CHAPTER

14

DIRECTIONS (Qs. 1-3) : The pie chart, given here, represents
the number of valid votes obtained by four students who contested
election for school leadership. The total number of valid votes
polled was 720.

Observe the chart and answer the questions based on it.
(SSC CGL 1* Sit. 2010)

Paramjeet

80°

100

Vishwanath Sivaranarayan

1. What was the minimum number of votes obtained by any

candidate?
(a) 100 (b) 110
(c) 120 (d) 130

2.  'Who was the winner....?
(a) Sivaraman (b) Paramjeet
(c) Yasin (d) Vishwanath

3. Byhow many votes did the winner defeat his nearest rival ?

(a) 40 (b) 45 (€) 48 (d 50

DIRECTIONS (Qs. 4-6) : The pie chart, given here, shows the

amount of money spent on various sports by a school
administration in a particular year.

Observe the pie chart and answer the questions based on this
graph. (SSC CGL 2" §it.2010)

Basket ball

Data Interpretation

4. Ifthe money spent on football was =~ 9,000 how much more
money was spent on hockey than on football ?

(a) "~ 11,000 (b) " 11,500
(c) " 12,000 (d) " 12,500

5. Ifthe money spent on football was * 9,000, what amount was
spent on Cricket ?
(a) " 31,000 (b) " 31,500
(c) " 32,000 (d) "~ 32,500

6. Ifthe money spent on football is ~ 9,000, then what was the
total amount spent on all sports ?

(a) " 73,000 (b) ~ 72.800
(¢) " 72,500 (d) 72,000

DIRECTIONS (Qs. 7-10) : The following graph shows the demand
and production of cotton by 5 companies A, B, C, D and E. Study
the graph and answer questions.

Demand (in tonnes)
Production (in tonnes)

(F%)
L
=
=

o
=
=
=

N~
1500

> ﬁ

D
Companies ———>

(SSC CGL 1% Sit.2011)

7. What 1s the ratio of companies having more demand than
production to those having more production than demand?
(a) 2:3 (b) 4:1
(c) 3:2 (dy 1:4

8. Whatis the difference (in tonnes) between average demand
and average production of the five companies taken together?
(a) 320 (b) 420
(¢) 2100 (d) 1050

9. Theproduction of company D is how many times that of the

production of the company A?

(a) 18 (b) 15

(¢) 05 (d) 04

The demand for company B is what percent of the demand

for company C?

(a) L5 (b) 25

10.

(c) 25 d 30
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DIRECTIONS (Qs. 11-14) : The following graph shows the
production of cotton bales of 100 kg each in lakhs by different
states A, B, C, D and E over the years. Study the graph and
answer Question Nos. 11 to 14,

(SSC CGL 2" §it.2011)
287 27
26t [ ]2003-2004
4T
22Tt 21 21 I:|2005—2006
20T 18 2006-2007
181 17 .
161 15 [ ]
144+ 13 13
121 11
1018 s s
8t 6 7
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4._
2.-
_ States —>
11. The production of State C in 2003-2004 is how many times
its production in 200620077
(a) 25 (b)y 18 (¢) 15 (d 04

12. In which State(s) is there a steady increase in the production
of cotton during the given period?
(8) AandB (b) Band D
(c) AandC (d) Dand E

13. How many kg of cotton was produced by State C durig the
given period?
(a) 32.00,00,000kg (b) 42,50,00,000 kg
(c) 33.00,00,000kg (d) 35,00,00,000 kg

14. The number of States for which the production of cotton in
2005-2006 is less than or equal to the preceding year is
@ 3 (b) 2
(c) 1 (d) There is no such states

DIRECTIONS (Qs. 15-19) : The pie-chart given below shows
the distribution of workforce by occupational category for country
Xin 1981 and 1995. Study the chart and answer the questions no.
1510 19.

Farm 1%

Blue-collar

Clerical

1981 1995
Total workforce Total workforce
150 million 175 million

(SSC Sub. Ins. 2012)

15. In 1981, the number of Sevice workers in the workforce, in
millions, was
(a) 150 (b) 205 (c) 225 (d) 280

16. In 1981, the number of categories which comprised of more
than 25 million workers each, is
(a) two (b)y three (c) four (d) five

17. The ratio of the number of workers in the Professional
category in 1981 to the number of such workers in 1995 is
(a) 4:9 (b) 5:14 (c) 9:14 (d) 14:9

18. The increase in the number of Clerical workers in the
workforce of country X from 1981 to 1995 (in millions) is
(a 0.75 (b) 15 (c) 05 (d 125

19. The percentage decrease in the number of Blue-Collar workers
in the workforce of country X from 1981 to 1995 is

2

(@) 42% (b 35 (© 20 @ 165

DIRECTIONS (Qs. 20-24) : Read the following chart and answer
the questions that follows :

The following pie-chart shows the preference of musical
instruments of 60,000 people surveyed over whole India.

Sitar 14% Flute 11%
Guitar 22%
Violin 20%
Miscellaneous Sarod 14%
10% Piano 9%
(SSC CHSL 2012)

20. If2100 people be less from the number of people who prefer
Flute, the percentage of people who prefer Flute would have
been:

(a) 9.5% (b) 6.5%
(cy 7.5% (d) 8.5%

21. Thetotal number of people who prefer either Sarod or Guitar,

is greater than the total number of people who prefer either

Violin or Sitar by :
(a) 1200 (b) 1600
(c) 1100 (d) 1400
22. The number of people who prefer the musical instrument
Sarod is :
(a) 7400 (b) 8400
(c) 6400 (d) 8600

23. If 16%% of the people who prefer Piano, would go with the

people who prefers Flute, the percentage of people who prefer
Flute would have been :
(a) 13.5% (b) 14.5%
() 155% (d) 12.5%

24, The number of people who prefer Guitar is greater than the
total number of people who prefer either Flute or Piano by :
(a) 1200 (b) 1100
(c) 1300 (d) 1400
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DIRECTIONS (Qs 25-29) : Study the graph and answer the
questions that follows :

Circle graph given below shows the expenditure incurred in
bringing out a book by a publisher.
Cost of Printing
35%

Wl

[iF]

2

E =] Q

0 = 7]

z X > e

[T 2=

& =g

= 7
]

Misc 4%
Adv. Charges

18% Royalty 15%

(SSCCHSL 2012)
25. The central angle of the sector for the cost of the paper is :
(a) 225° (b) 16° (c) 548° (d) 576°
26. Royalty on the book is less than the Advertisement charges
by:
25%

@ 3% (b) (c) 20%

27. 1f 5500 copies are published, Miscellaneous expenditures
amountsto - 1848 and publisher’s profit is 25%, then marked
price of each copy is :

2
@ 165%

(@ " 1250 (b) " 1050 (¢) " 10 (d) "~ 840
28. Ifthe cost ofprinting is ~ 17,500, the Royalty is:
(a) “8750 (b) " 6300 (c) 7500 (d) °~3150

29. Ifthe Miscellaneous charges is = 6,000, the Advertisement
charges are:
(a) 27,000 (b) ~90,000(c) " 12,000 (d) " 133333

DIRECTIONS (Qs. 30-34) : The graph shows Income and
Expenditure of a company. Study the graph and answer the
questions.

33. The difference in profit between 2001 and 2002 is

(a) ~25lakhs (b) Nodifference
(c) ~10lakhs (d) "20lakhs

34. Thenumber of years in which the income exceeds the average
income is

(a) three (b) four (c) one (d) two

DIRECTIONS (Qs. 35-39) : The number of mobile simcards in 4
states are given in multiple bar diagrams. Study the diagram and
answer the questions below.

£ %ﬁ ] O BSNL
= Zl4
= 33 =] 0] Airtel
g E B O Aircel
2 H]
E ]
5w
E 9
FINE
= 1
= 1
s 0 T T T 1
“ Gujarat Tamil Nadu Assam Kerala
(SSC CGL 2™ 8it.2012)
35. In Assam, the ratio of Aircell simcard and Airtel simcard
sold is:
(a) 3:2 (by 2:5 (c) 5:2 (dy 2:3
36. In which state are there the largest number of owners of

Airtel simcard?

(a) Tamil Nadu (b) Gujarat
(c) Kerala (d) Assam
37. Average of simcard sold in the four states in lakhs is
(a) 3025 (b) 405 () 35 (d) 3375
38. The range of BSNL simcard sold in the 4 states in lakhs is:
(@ 12 (b) 15 () 4 d 13
39. Ofall the simcards sold in all the four states, the number of

simcards sold in Gujarat is (approx)

@ 40% () 38% (© 3% (@ 492%

(SSC CGL 1*8it.2012)

[ Income
Expenditure
55 I Exp

Rs. in Lanks

2000

2001 2002 2003 2004
YEARS

30. The expenditure from 2002 to 2003 increased by

1
@ 33% b 0% @© 10% @ 20%

31. Theincome in 2002 was equal to the expenditure in the year

(a) 2003 (b) 2004 (c) 2000 (d) 2001
32. The profit was maximum in the year
(a) 2003 (b) 2004 (c) 2001 (d) 2002

DIRECTIONS (Qs. 40-44): Population of five adjacent areas of
a town, in the year of 2010, are represented in the following Pie-

chart. the ratio ofthe numbers of males to that of females in these

areas are stated in the table below. The total of the population in
all the five areas is 72 lakh. Study the Pie-chart and the table and
then answer the questions.

Ratio of numbers of males (M) to females (F)
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Ratio
M:F

3:204:17:312:3(13:7

(SSC CGL 1% Sit. 2012)

40. 12 lakh is the population of the area
(@) S, (b) 8§, (c) S, d 8§,
41. The number of males in the areas S, and S, together is
(a) 13.8lakh (b) 82lakh (c) 16.2lakh (d) 15.8lakh
42. The ratio of number of females in the area S, to that in the
area S is
(@ 108:35 (b) 36:13 (c) 9:7 (d) 13:36
43. If, in the year 2010, there was an increase of 5% population
in the area S and 8% increase in population of the area 8,
compared to the previous year, then the ratio of population
in the areas S and S,, in the year 2009 was
(a) 108:35 (b) 27:10 (c) 27:70 (d) 10:3
44. The average of female population in all the five areas is
lower than the female population in each of the areas
(@) S ands, (b) S,and S,
(c) S,andS, (d) S,and S,

DIRECTIONS (Qs. 45-49) : The following pie-chart represents
the profits earned by a certain company in seven consecutive
years. Study the pie-chart carefully and answer the question.

(SSC CGL 2"9Sit.2012)

Years

1991
1992
1993
1994
1995
1996

45, Ifthe expenditure in the year 1993 was 30% more than the
expenditure in the year 1991, then the income in the year
1993 exceeds the income in the year 1991 by 30% of
(a) theincomein theyear 1991
(b) the expenditure in the year 1993
(c) theincomein theyear 1993

(d) the expenditure in the year 1991

46. If x% of the total of profits earned in all the given years is
same as the profit earned in the year 1994, then x is

2 1
(@ 165 (b) 333
1 2
© 125 @ 13

47. The ratios of expenditures and incomes in the years 1992,
1994 and 1996 are giventobe 6:5:8and 2 : 3 : 4 respectively.

48.

49.

50.

51.

Temperature
LS
=
o

The ratio of the income in the year 1996 to the total
expenditure in the years 1992 and 1994 is

(a) 40:11 (b) 10:7

(c) 20:11 (d) 20:13

The year in which the profit is nearest to the average of the
profits earned in all the given years is

(a) 1991 (b) 1995

(c) 1993 (d) 1994

If the income in the year 1997 was 5 times the expenditure
made in the same year, then the ratio of the profit earned in
the year 1991 to the expenditure in the year 1997 was

(a) 11:28 (b) 44:7

(c) 28:11 (d) 7:44

The following graph represents the maximum and minimum
temperature recorded every day in a certain week. The day
on which the difference between the maximum and minimum
temperature was maximumis (SSC Multitasking 2013)

® Maximum temperature

O Minimum temperature

BTN A

40°

|
RN

™~

! .

o]

L

o
TTIT [ IT 1T

S—
VTN
W
15° -
Sun M Tu W Th F Sat
Days
(a) Monday (b) Wednesday
(c) Saturday (d) Sunday

Different choices made by a group of 200 students are given
below in percentage. The number of students who have taken
neither Science nor Commerce is (SSC Multitasking 2013)

Percentage of Students in different
streams
Name of Streams Percentage
Science 29%
Arts 29%
Commerce 31%
Home Science 6%
Others 5%
(@ 40 (b) 80

(©) 120 d 6
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DIRECTIONS (Qs. 52-55) : The following table shows the
productions of food-grains (in million tons) in a state for the period
1999 - 2000 to 2003 - 2004. Read the table and answer the questions.

Production (in million tons)
Year Wheat Rice Barley | Other cereals
1999-2000 680 270 250 450
2000-2001 800 420 440 300
2001-2002 680 350 320 460
2002-2003 720 400 380 500
2003-2004 820 560 410 690

(SSC Sub. Ins. 2013)

52. In 2002 - 2003, the percentage increase in the production of
barley as compared to the previous year was:

(a) 1420 (by 17.85 (c) 1875 (dy 790

53. During the period 1999 - 2000 to 2003 - 2004, x per cent of the
total production is production of wheat. The value ofx is about:
(a) 126 (by 374 (c) 378 (d) 202

54. In the year 2003 - 2004, the increase in production was
maximum over the previous year for:
(a) Rice (b) Barley
(c) Other cereals (d) Wheat

55. The difference of average production ofrice and the average
production of barley over the years is :

(@ 50 (b) 6 © 80 @ 40

DIRECTIONS (Qs. 56-60): Production of three different flavours
soft drinks X, Y and Z for a period of six years has been expressed

in the following graph. Study the graph and answer the questions.
B 0O 0O
X Y Z
60+ N .
= Yy L al = W
7 50+ = s iy B
- z ==
S 40+ =
=
S 304
2
£ 204
=
Z 104
0
vy D — o0 = =
= = = = = —
= = = = = =
(o] (o] (o] (o] [ 1
(year)

(SSC Sub. Ins.2013)

56. The approximate decline in the production of flavour Z in
2010 as compared to the production in 2008 is:

(a) 33% (b) 225% (c) 42% (d 25%
57. Theaverage annual production was maximum in the given
period for the flavour:
(a) Yonly (b) Z only
(¢) XandZ (d) X only

58.

2007 and 2008 combined?

(a) 10225 (b) 11557 (c) 13333 96.67

(d)

What percent of the total production of flavour X in 2005
and 2006 combined is the total production of flavour Z in

59. The percentage of rise/fall in production from the previous
year is maximum for the flavour Y in this year:
(a) 2007 (b) 2008 (c) 2009 (d) 2006

60. The difference (in lakh bottles) between the average
production of flavour X in 2005, 2006, 2007 and the average
production of flavour Y in 2008, 2009 and 2010 is :
(a) 24 (b) 05 (©) 15 @ s

DIRECTIONS (Qs. 61-63): The following pie-chart shows the
number of students admitted in different faculties of a college.
Study the chart and answer the question.

Education
Law q
1 Arts
N
Commerce
Science
(SSC CGL 1% Sit.2013)

61. If 1000 students are admitted in science, what is the total
number of students ?

(a) 360 (b) 180 (c) 1800 (d) 3600

If 1000 students are admitted in science, what is the ratio of
students in science and arts ?

(a) 5:6 (b) 6:5 (c) 7:5 (d) 7:6

. How many students are more in commerce than in law if 1000

students are in science ?
(a) 20 (b) 200 (c) 2000 (d) 500

DIRECTIONS (Qs. 64-67) : Study the two pie-charts and answer
the questions.

62.

April month’s salary :~ 24000/-

4

A-Education

B- Savings

C - Grocery

D- Electricity and
Phone Bills

E -Miscellaneous
18%

4%
May month’s salary :~ 25000/-
2%

D
9%

i)
c 1%\ B 2%

A
50%

(SSC CGL 1 Sit. 2013)
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64.

65.

67.

The average amount spent on Education, Grocery and 73. Thedifference in the amount estimated by the family on interior

Savings from April month's salary is :

(a) ~5520 (b) " 5800 (c) “6000 (d)y " 6325
From the salary of May, the amount spent on Grocery and
Electricity are :

(a) " 2160, 480 (b) ~ 6250, 3360

(c) " 960, 5040 (d) " 3500, 2250

Theratio of amount spent for savings in April month's salary
and miscellaneous in May month's salaryis :

(@) 235:50 (b) 216:25 (¢) 217:26 (d) 205:13
What is the percent increase in Education in May month
than April month ?

(@) 1082% (b) 956% (c) 1235% (d) 20%

Study the above bar graph showing the production of food
grains (in million tons). (SSC CGL 2" 8it.2013)
What is the ratio between the maximum production and the
minimum production during the given period?
120
100
80
604
40
20

Production of food grai

2005 2006 2007 2008 2009

Year ——»

(@ 1:2 (b) 2:3 (c) 3:4 (d 5:2

DIRECTIONS (Qs. 69-74): Study the following histogram and
answer the following.

69.

70.

71.

72.

10

No. of Students —>
S = NW A W N0

10 20
Marks —>

(SSC CGL 2™ Sit.2013)
The total number of students involved in the data is

30

(@ 33 by 32 (c) 43 (d 42

The maximum number of students got the marks in the
interval of

(@) 10-20 (b) 20 -30

(c) 30-40 (d) 40-50

The least number of students got the marks in the interval
(a) 40-50 (b) 20-30

(c) 10-20 (d) 0—10

The ratio of the students obtaining marks in the first and the
last interval is

(a) 5:4 (b) 6:5 (c) 4:5 (dy 3:4

74.

decoration and architect’s fees is

(a) ~ 10000 (b) " 9500

(c) ~ 7200 (d) " 9600

In a certain country, allocations to various sectors of the

yearly budget per ~ 1000 crores are represented by this pie-
diagram. The expenditure (in ~ ) on Agriculture is

(a) 250crores
(c) 300 crores

(b) 150 crores
(d) 200 crores

DIRECTIONS (Qs. 75-77): Shown below is the multiple bar
diagram depicting the changes in the roll strength of a college in
four faculties from 2001 — 02 to 2003 — 04.

75.

76.

77.

600
550"
5001

400f -

Nurrber of Students

250(p
200} --
150} ..

2001-02
[/
Arts
Scicncc

2003-04

E Commerce

E Law

(SSC CGL 1% Sit.2013)

The percentage of students in Science faculty in
2001-20021is

(@) 278% (b) 29.6%
(c) 302% (d) 269%
The percentage of students in Law facultyin 2003 — 04 is
(a) 15.6% (b) 16.7%
(c) 148% (d) 185%

Percentage of increase in Science students in 2003 — 04 over
2001 -2002is

2
(a) 150%  (b) 665% (©) 75% (d) 50%
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DIRECTIONS (Qs. 78-81): The following pie-chart shows the
marks scored by a student in different subject - viz. Physics (Ph),
Chemistry (Ch), Mathematical (M), Social Science (SS) and English
(E) in an examination. Assuming that total marks obtained for the
examination in 810, answer the questions given below.

(SSC CGL 1 Sit. 2013)

78. The subject in which the student obtained 135 marks is
(a) Chemistry (b) Mathematics
(c) English (d) Physics

79. The marks obtained in English, Physics and Social Science
exceed the marks obtained in Mathematics and Chemistry
by

1 1

(a) ]06% b 25% (c) ! IE% d 20%

80. The difference of marks between Physics and Chemistry is
same as that between
(a) Mathematics and English
(b) English and Social Science
(¢) Chemistryand Social Science
(d) Physics and English

81. Themarks obtained in Mathematics and Chemistry exceed
the marks obtained in Physics and Social Science by

@ 40 b)) 45 () 0 d 30

82. What should be the central angle of the sector for the cost of
the paper ?
(a) 57.6° (b) 544° () 56.7° (d) 54.8°

83. Ifthe miscellaneous charges are * 6,000, the cost of paper is
(a) 12,000 (b) " 18,000(c) " 15000 (d) " 24,000

84. If 5500 copies are published, miscellaneous expenditures
amount to = 1,848, find the cost price of 1 copy.

@@ 1040 (b) 940 (c) " 1240 (d) " 840

DIRECTIONS (Qs. 85-86) : The pass percentage for an
examination in a school is shown in the adjoining bar diagram, for
males and females separately for four years. Study the diagram
and answer the question.

(SSC CGL 1% Sit. 2013)

50T
g T D Male
3|47 _
] - Female
= |30t
?ﬂ .-
El201t
110t

2007 2008 2009 2010

Years

85. The maximum percentage of students passed in the year is
(a) 2007 (b) 2008
(¢) 2009 (d) 2010

86. Theyearin which the difference of pass percentage between
male and female is maximum, is

(a) 2010 (b) 2009
(c) 2008 (d) 2007

DIRECTIONS (Qs. 82-84) : The following graph shows the
expenditure incurred in bringing a book, by a magazine producer.
Study the graph and answer question.

DIRECTIONS (Qs. 87-88) : The adjacent histogram shows the
average pocket money received by 60 students for a span of one
month. Study the diagram and answer the question.

(SSC CGL 1% Sit. 2013)

Cost of
Printing
35%

(SSC CGL 1* Sit. 2013)
20 =
16T
E 124
5| 54
(=
z
4_-
0
50 80 110 140 170 200

Pocket Money (in 7)




251

Data Interpretation

87. Maximum number of students received pocket money
between
(a) 50-80 (b) 140-170
(c) 80-110 (d) 110—140

88. The number of students who received pocket money upto
T 1401s
(a) 20 (b) 32 (c) 48 (d 36

93. The percentage of the students passed in 2nd division in the
year 2010 was
(a) 30%
(c) 50%
DIRECTIONS (Qs. 94-95) : Following figure is Pie—chart

representing itemwise cost of manufacturing certain product.
Study the chart and answer the questions.

(b) 40%
(d) 60%

DIRECTIONS (Qs. 89-93) : The sub divided bar diagram given
below depicts H.S. Students of a school for three years. Study the
diagram and answer the questions.

(SSC CGL 1* Sit. 2013)

Fail [0 3rd Division
[l 2nd Division
1st Division

250

T 200

150

Number of Students
=
=

N
=

[ 2008 2009 2010
Year —>
89. The percentage passed in 1st division in 2008 was
3 13
(a) 27% (b) 32% (o) 15§% (d) “ﬁ%
90. The pass percentage in 2008 was

2 6
@ 6% () B% () 7% @ 82-%

91. In which year the school had the best result for H.S. in respect
of percentage of pass candidates ?
(a) 2008
(b) 2009
(c) 2010
(d) The percentage of pass candidates are same for the

three vears.

92, The number of students passed in third division in the year
2008 was
(@ 50 (b) 60

© 70 d 0

(SSC CGL 1% Sit. 2013)

Cost of
Materials
144°

Cost of
Labour
115.2°

Expenses
43.2°

94, Total manufacturing costis = 96,000. Then, cost of labour is

(a) " 30,720 (b) " 38,400
(c) " 11,520 (d) ~ 15,000
95. The difference of cost of material and direct expenses is
(a) " 26,000 (b) " 10,000
(c) 26,500 (d) " 26,880

DIRECTIONS (Qs. 96-97) : The bar graph shows the marks
obtained by a student in an examination out of 100 marks in each
subject. Study the diagram and answer the questions.

(SSCCHSL 2013)
100
(}0-.
1 T N
11 —
2 60T
E S504---]  Jeeeemaeaad -
a0+
0t =
or [2] 2] |E] €] |2
96. Theaverage marks of Hindi and English is
(a) 60 (b) 65
(c) 50 (d) 55
97. The ratio of the marks of Maths and History is
(a) 4:3 (b) 6:5
(c) 8:5 (d) 3:4

DIRECTIONS (Qs. 98-99) : Various expenditures incured by a
publishing company for publishing a book in 2011 are given below.
Study the chart and answer the questions.
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(SSC CHSL 2013) DIRECTIONS (Qs. 102-106) : The following pie-chart shows the
monthlyexpenditure ofa familyon food, house rent, clothing, education,
fuel and miscellaneous. Study the pie-chart and answer questions.

Transportation
10%

20%
House rent

Miscellaneous

Education

98. Royalty of a book is less than the printing cost by

(a) 20% b)) 25% (¢) 5% (d) 33%% 102. If the expenditure for food is ~ 9000, then the expenditure

for education is (SSC Sub. Ins. 2014)
99. Price ofa book is 20% above cost price. If the marked price (a) 5000 (b) 5200 (c) T5400 (d) " 6000
is " 180, then the cost of paper for a single copy, in ", is 103. The central angle of the sector for the expenditure on fuel
(a) 42 (b) 4425 (¢) 36 (d) 2250 (in degrees) is (SSC Sub. Ins. 2014)
100. Using the pie-chart answer the following ; (a) 504 by 4 (c) 576 @ 72

104. Ifthe expenditure on fuel is ~ 3000, then the total expenditure
excluding expenditure on house rent and education is
(SSC Sub. Ins. 2014)

(a) "~ 11600 (b) 12000 (c) " 12400 (d) " 12500
105. Ifthe percentage of expenditure on food is x% of the total

percentage of expenditure on clothing, education and fuel,
then x equals (SSC Sub. Ins. 2014)

@) 66 () 66% © 66% @ 6

106. Total percentage of expenditure on house rent, clothing and
fuel is greater than the percentage of expenditure on food

Ifthe annual income of the family is = 60,000, then the savings

is (SSC Multitasking 2014) by (SSC Sub. Ins. 2014)
@ 7,500 (b) 9,000 (c) 3,000 (d) 6000 (@) 16 b 17 (9 18 @ 2
101. The equation of the graph shown here is DIRECTIONS (Qs. 107-110) : The bar chart representing the
Ay number of first year B.Com. students of St. Xavier's College using
+1 ©.1) different companies' smart phones. Study bar chart and answer

the question that follow:

X' 0 1 >X . Boys

h

1 (0,-1) > %33 240 I:I Girls
, T 220
vy 200 180
(SSCMultitasking 2014) £ |50 160
(a) whenx£0,y=+1 T 140 120
whenx>0,y=-1 b :ﬁg 100
=]
(b) whenx<0,y=+1 ZQ 80 60
whenx?0,y=-1 f"g 40
(¢) whenx<0,y=+1 20 .%_)
whenx >0, y=-1 Samsung  Sony Nokia Others
(d) whenx<0,y=-1 Different Smart phone companies

whenx>0,y= +1
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The bar chart representing the no. of students using different

smart phones. (SSC Sub. Ins. 2014)

107. The ratio of the number of boys to the number of girls using
the smart phones of Samsung and Sony together is

(@ 12:13 (b) 13:12 (c) 14:11 (d) 11:14
108. What percentage of boys are using the smart phones of

Samsung ?

(@) 1652% (b) 17.52% (c) 1852% (d) 1552%
109. What percentage of girls are using the smart phones of

Nokia ?

(a) 3358% (b) 32.58% (c) 3058% (d) 31.58%
110. The difference between the total number of students using
smart phones of Samsung combined together and the total
number of students using smart phone of Sony taken together
is
(@) 20 (b) 60 () 80 (d) 40
Find the difference between the average sale of branches B5
and B6 in 2000 and 2001.

(@ 15 (b) 18 (c) 202 (d) 31

DIRECTIONS (Qs. 112-115): Sales of Books (in thousand
numbers) from Six Branches - B1, B2, B3, B4, B5 and B6 of a
Publishing Company in 2000 and 2001. Study the graph and answer
the question that follow:

111.

(SSC CHSL 2014)
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112. Total sale of branches B1, B3 and B5 together for both the
years (in thousand numbers) is
(a) 250 (b) 310 (c) 435 (d)y 560

113, Find the ratio of the total sales of branch B2 for both years to
the total sales of branch B4 for both years.
(a) 2:3 (b)y 3:5 (c) 4:5 (d 7:9

114, Percentage of the average sale of branches B1, B2 and B3 in
2001 and the average sale of branches B1, B3 and B6 in 2000

(a) 875 by 75 (c) 775 (d &5
115. Find the percentage increase in the sales of books of branch
B3 in the year 2001 than the branch B2.

@ 692  (b) 508 (c) 409  (d) 657

DIRECTIONS (Qs. 116-120): The diagram shows the age
distribution of the patients admitted to a hospital in a particular
day. Study the diagram and answer

(SSC CHSL 2014)

No. of Patients

N .
0] 30 35 40 45 50 55 60 65

¢
.
.
..

70 75 80

Age (in years)

116. Number of patients of age between 55 years to 60 years, who
got admitted to the hospital on that day is
(@ 6 (b) 4
(c) 24 (d) 8

117. Total number of patients of age more than 55 years, who got
admitted to the hospital is
() 4 b 7
() 9 (d) 10

118. Number of patients of age more than 40 years and less than
55 years, who got admitted to the hospital on that day is
(@ 20 (b) 30
(©) 15 (d 12

119. Percentage of patients of age less than 45 years, who got
admitted to the hospital on that day is approximately equal

to
(a) 14% (b) 20%
(©) 37% ) 62%

120. About 11% of the patients who got admitted to the
hospital on that particular day were of age

(a) either between 35 years and 40 years or between 55
years and 60 years

®)
(c) between 35 years and 40 years
(d)

between 60 years and 65 years

between 35 years and 40 years and between 55 years
and 60 years
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DIRECTIONS (Qs. 121-123): Study the following table and
answer question.

School No. of Percentage  No.of
students of students students
scoring scoring appeared
marks marks
less than more than
50% 50%

A 240 55 600

B 20 40 400

C 300 20 375

D 280 10 350

E 210 25 300

(SSC CGL 1% Sit. 2014)
121. The ratio of the total number of students scoring marks less
than 50% to that of scoring marks exactly 50% is

(a) 50:3 (b) 25:2
(c) 25:4 (d) 35:2

122. Which school has the highest number of students scoring
exactly 50% marks?

(@ D () E
(c) B (d) A
123. The total number of students scoring 50% or more marks is
(@) 1250 (b) 875
(¢) 775 (d) 675

DIRECTIONS (Qs. 124-127): Study the following graph which
shows income and expenditure of a company over the years 2005-
2009 and answer questions.

[Jmncome

704 —

B Expenditure

60+
50t
40+
30t
2071

(" in Crores) ———»

2005 2006 2007 2008 2009

Y (SSC CGL 1% Sit. 2014)
124. The difference in profit (" in crores) of the company during
2006 and 2007 is
(a) 10 (b) 15 (c) 20 (d 25
125, In how many years was the income of the company less than
the average income of the given years?

(@ 4 (b) 3 () 2 @ 1
126. The percentage increase in expenditure of the company from
2007 to 2008 is

(a) 20 (b) 25 (c) 30 (d 35
127. Profit of the company was maximum in the year
(a) 2009 (b) 2008 (c) 2006 (d) 2005

DIRECTIONS (Qs. 128-131) : Study the bar graph and answer
the question.

B Quantity in lakh sugar bags
60
M Value in crores rupees

500

50

40

301

204

104

0

Years 1996 1997 1998 1999 2000

(SSC Sub. Ins. 2015)
128. The approximate percentage increase in quantity from 1997
to 1998 was :

(a) 273% (b) 27.8%
(c) 265% (d) 269%
129. Percentage fall in value from 2000 to 2001 in :

(a) 50% (b) 75%
() 25% (d) 40%
130. The difference between the bags exported in 1999 and 2000
was.
(a) 50,000,00 (b) 1,00,000,00
(c) 1,50,000,00 (d) 2,00,000,00
131. Value per bag was minimum in the year:
(a) 2001 (b) 1999
(c) 199 (d) 1997

DIRECTIONS (Qs. 132-135): The Expenditure ofa family in a
month is represented by a Pie—chart. Read it and answer these
questions. (SSC CHSL 2015)

House Rent

132. The ratio of the amount spent on food and clothes ?
(a) 2:5 (b) 4:1
(c) 4:5 (d) 5:1
133. The % money spent on food compared to house rent is by?
(a) 125% (b) None of the options
(© 25% (d) 50%
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134. The total money spent on clothes and miscellaneous items
are :
(a) None of the options  (b) ~ 3600
(c) " 900 (d) " 2000
135. If the total amount spent is = 7,200. Find the amount spent
on food ?
(a) ~ 3000 (b) "~ 4500
(c) 6000 (d) " 1500
DIRECTIONS (Qs. 136-140): Study the following bar graph and
answer the questions. (SSC CHSL 2015)
N 80
g 80 TE m
0l
= 65
2 60+ 60
5 50
7 0T 45 —
t —
f01 A
5
= 301 25
s
= 20 T
2
S 10T
ks
e 0 T T T T T T T

1995 1996 1997 1998 1999 2000 2001 2002

YEARS
136. The number of years, the production of fertsilizers was more
than average production of the given years is :

(@ 2 (b) 1
(€ 3 d 4

137. The percentage increase in production of fertilizers in 2002
compared to that in 1995 is :

(a) 200% (b) 180%
() 220% (d) 240%
138. The percentage decline in the production of fetilizers from
1997 to 1998 is :
(a) 27.5% (b) 25%
(c) 26% (d) 23%

139. The average production of 1996 and 1997 is exactly equal to
the average production of the years ?
(a) 2000and2001 (b) 1999 and 2000
(c) 1995and2001 (d) 1995and 1999

140. The percentage increase in production as compared to
previous year is maximum in year :

(a) 1999 (b) 199% (c) 1997 (d) 2002
DIRECTIONS (Qs. 141-144) : Study the following bar diagram
carefully and answer the following four Questions.

The number of the production of electronic items (TVs and LCDs)

in a factory during_the period from 2009 t02013.
(SSC CGL 1% Sit. 2015)

|:| TVs
i LCDs
13,000
12,000
11,000
10,000
2 9.400
£ 9000
; 2,000
z 7.000
= 6000
g
2009 2010 2011 2012 2013
Years
141. The total number of production of electronic items is maximum
in the year
(a) 2009 (b) 2010 (c) 2011 (d) 2013
142. The ratio of production of LCDs in the year 2011 and 2013 is
(a) 3:4 (by 4:3 (c) 2:3 (d 1:4

143. The difference between averages of production of TVs and
LCDs from 2009 t0 2012 1s

(a) 600 (b 700  (c) 800 (d %0
144. Theratio of production of TVs in the years 2009 and 2010 is
(a) 7:6 (by 6:7 (c) 2:3 (d 3:2

DIRECTIONS (Qs. 145-147): The pie—chart given here shows
expenditure incurred by a family on various items and their savings.
Study the chart and answer the questions based on the pie—chart

EDUCATION

SAVINGS

(SSC CGL 1#8it. 2015)
145. Ifthe monthly income is ~ 36000 then the yearly savings is:
(a) " 72000 (b) " 60000
(c) = 74000 (d) " 70000
146. If the expenditure on education is ~ 1600 more than that of
housing then the expenditure on food is:

(a) "6000 (b) ~ 12000
(c) ~7000 (d) "3333
147. The ratio of expenditure on food to savings is :
@ 2:1 (by 3:1 (c) 3:2 (d) 10:9
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DIRECTIONS (Qs. 148-151): The following piechart shows the
study time of different subjects of a student in a day . Study the
pie chart and answer the following questions.

(SSC CGL 1* Sit. 2016)

148. The time spent to study history and chemistry is 4 hours 30
minutes, Then the student studied physics for
(@) 1hour 30 min (b) 2.9hour (approx.)
(c) 2 hours (d) 3 hours
149. If the student studied chemistry for 3 hours, then he / she
studied geography for
(a) 1hour (b) 2 hours
(¢) 1 hour 30 minutes (d) 2 hour 30 minutes
150. Ifthe student studied 10 hours in a day, then he/ she studied
mathematics for.
(@) 3 hour (b) 10/3 hour
(¢) 1/3 hour (d) 3/10 hour
Instead of 10% , if the student spends 15% to study other
subjects and the time is taken from the time scheduled to
study mathematics and if he/ she used to study 20 hours per
day , then the difference of time for studying mathematics
per day is
(@) 30minutes
(¢) 1 hour
DIRECTIONS (Qs. 152-155) : The bar graph given indicates the
income of a firm. Study the graph and answer the questions given.
14
12
10

151.

(b) 45 minutes
(d) 1hour 30 minutes

Income in lakhs rupees

(== S I =+

Jan Feb Mar Apr May
Months
(SSC CGL 1* Sit. 2016)
152. Which period shows a steady increase of income?

(a) March to May

(b) Februaryto April

(c) February to May

(d) Insufficient data to predict

153. During which month, the ratio of the income to that of the
previous month is the largest ?

(a) February (b) March
(c) April (d) May
154. The income of May is how many times to that of
Februarey?
(a) 3.25 (b) 4
(¢) 35 (d 5
155. The average monthly income of the firm (in lakh rupees) is
(a) 76 (b) 6
(c) 88 (d) None of these

DIRECTIONS (Qs. 156-159) : A bar graph showing the heights

of six mountain peaks. Study the bar graph and answer questions
C D

8800
8200
I | I ]
A B E F
B Mountain peaks
(SSC CGL 1% Sit. 2016)

156. The average height of all the peaks (in meters) is

9000 8600
7500

B000
T000
6000
5000
4000
3000
2000
1000

mameRgE =~ FR =D

=

(a)y 76015 (b) 7600 (c) 7395 (d) 7el0
157. Which peak is the second highest?
(a) B (b) C (c) A (d E
158. Write the ratio of the heights of the highest peak and the
lowest peak
(a) 22:15 (b) 15:22 (c) 20:13 (d) 13:22

159. When the heights of the given peaks are written in ascending
order, what is the average of the middle two peaks?

@@ 7950m (b) 7560m (c) 7650m (d) 7850m

DIRECTIONS (Qs. 160-164): Study the following table which
shows the amount of money invested (Rupees in crore) in the
core infrastructure areas of two districts. A and B of a State, and
answer the below five questions.

District A District B
CoreArea| 1995 1996 1995 1996
Electricity | 815.2 1054.7 2065.8 2365.1
Chemical | 389.5 476.7 745.3 986.4
Thermal 6324 565.9 1232.7 1026.3
Solar 468.1 598.6 1363.5 1792.1
Nuclear 617.9 803.1 1674.3 2182.1
Total 2923.1 3489.5 7081.6 8352.0

(SSC Sub Ins. 2016)
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160. By approximately what percent was the total investment in
the two districts Aand B more in 1996 as compared to 1995?

(a) 18% by 14% (o) 21% (d) 24%

The total investment in electricity and thermal energy in 1995,
in these two districts A and B formed approximately what
percent of the total investment made in that year?

(a) 55% (b) 41% (c) 52% (d)y 47%

In district B, the investment in which area in 1996 did show
the highest percentage increase over the investment in that
areain 19957
(a) Nuclear
(c) Chemical

161.

162.

(b) Electricity

(d) Solar

Approximately how many times was the total investment in
1995 and 1996 in district B was that of total investment of
district A in the same years?

(@ 17 (b) 2.8

(c) 24 (d) 19

If the total investment in district B shows the same rate of
increase in 1997, as it had shown from 1995 to 1996, what
approximately would be the total investment in B in 19977
(a) " 9850 crore (b) ~ 10020 crore

(c) ~ 8540 crore (d) ~ 9170 crore

DIRECTIONS (Qs. 165-168): : The bar graph shows the results
ofan annual examination in a secondary school in a certain year.

(SSC Sub Ins. 2016)

163.

164.

100 A
90 1
80 1
70 A
60 7
50 7
40
30 7
20 1
10 7

Number of passed student

IX
Class =——p
165. The ratio of the total number of boys passed to the total
number of girls passed in the three classes VII, VIl and IX is
(@) 20:23 (b) 18:21 (c) 21:26 (d) 19:25
166. The average number of boys passed per class is
(@) 75 (b) 78 (c) 70 (d 72
167. The class having the highest number of passed student is
(a) IX (by X (c) VII (d VI
168. The class in which the number of boys passed is nearest
to the average number of girls passed per class, is
(a) VII (b)y X (c) M (d IX

DIRECTIONS (Qs. 169-172) : Study the following table carefully
to answer these questions: (SSCCGL 2017)

Number of Students Studying Five Different
Disciplines From Five Institutes

Discipline
Arts |Commerce |Science |[Management [Computer
|Institute science
A 350 260 450 140 300
B 240 320 400 180 320
C 460 300 360 160 380
D 440 480 420 120 340
E 280 360 340 200 330

169. What is the average number of students studying Commerce
from all the Institutes together?

(a) 356 (b) 360

(¢) 348 (d) 344

170. Total number of students studying Arts from Insitutes A and
B together is approximately what per cent of the total number
of students studying computer Science from these two
Institutes?

(@ # (b) 95

(c) &8 (d) %

What is the ratio between total number of students studying
Science from Institutes C and D together and the total number
of students studying Computers Science from these two
Institutes together respectively?

171.

(a) 13:12 (b) 12:13
(c) 13:15 (d) 15:13
172. What is the average number of students studying all
disciplines together from institute E?
(a) 312 (b) 310
() 302 (d) 304

DIRECTIONS (Qs. 173-176) : The pie chart given below shows
the number of shoes of 5 different brands in a multi brand store.

There are total 1200 shoes. (SSC CGL 2017)
Vans
Puma 13%
Adidas
25%
Nike
18%
Reebok
23%
173. How many shoes are there of Reebok brand?
(a) 230 (b) 276 (c) 286 (d) 216

174. What is the difference in number of shoes of Puma and Vans?
(a) 96 (b) 156 (c) 4 (d)y 112
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175. The difference between the number of shoes of Reebok and Glass

Nike is same as the difference between which of the following ot 8%

two brands? o Engine

(a) Pumaand Adidas
(b) Reebok and Adidas
(c) Vansand Nike
(d) Nikeand Adidas
176. Puma shoes are how much percent more than the Nike shoes?
(a) 1428 (b) 16.66
() 25 (d) 21.33
DIRECTIONS (Qs. 177-180) : The pie chart given below shows

the break — up of number of hours of teaching various subjects
at an institute by Mr. Raghav.

(SSC CGL 2017)
D
a.ta Modern Number
Sufficiency~, Maths 4%
System

4%
23%

Arithmetic
46%
177. If Mr. Raghav taught a total of 500 hours, then what is the
difference in number ofhours ofteaching algebra and modern
Maths?

@ 15 (b) 20
© 25 (d) 40
178. Mr. Raghav taught Geometry for 36 hours. Ifthe time taken

in teaching Ratio consitutes one-fourth of the time for
Arithmetic, then for how much time (in hours) did he taught

the topic Ratio?
(a) 46 (b) 51.75
(c) 69 (d) 103.5
179. If Data Interpretation and Modern Maths were taught for a

combined time of 96 hours, then for howmuch time (in hours)

were Number system and Geometry taught?
(a) 136 (b) 184
(¢) 2l6 (d) 232

180. A new topic named Problem Solving was also introduced

and it was decided that 10% time of all topics except
Arithmetic will be devoted to it. What will be the central
angle (in degrees) made by Problem Solving in the new pie
chart?
(a) 17.28 (b) 18 (d) 36

DIRECTIONS (Qs. 181-184) : The pie chart given below shows
the percentage of time taken by different processes in making a
car.

(c) 1944

(§SC CGL 2017)

6%

40%

Tyres
11%

Frame
22%

Paint

13%

181. Iftotal time taken to make a car is 300 hours, then what is the
total time (in hours) taken in paint and frame?
(a) 9 by 72 (c) 105 (d 66

182. If time taken in seats is 192 hours, then what is the time taken
(in hours) in glass?
(a) 256 (b) 352
(c) 416 (d) 278

183. If total time taken in engine and tyres is 127.5 hours, then

what is the difference (in hours) in time taken by frame and
glass respectively?

(a) 275 (b) 125
(c) 40 (d) 35
184. 15% of total time is spent on quality check and this time is

equally taken from all other processes. So What will be the
new sectorial angle (in degrees) made by total time of seats

and glass?
(a) 28.6 (b) 324
(c) 358 (d) 316

DIRECTION (Q. 185): Refer the below data table and answer
following Question. (SSC CHSL 2017)

Number of | Annual salary | Bonus as percent
employees (in lakhs) of annual salary
Manager 3 30 30%
Executive 8 16 20%
Trainee 4 2 20%
185. What is the average bonus (in rupees)?
(a) 5419995 (b) 160000
(c) 361333 (d) 126000
186. Refer the below data table and answer the following
Questions:- (SSC CHSL 2017)
2011 | 2012 | 2013 | 2014 | 2015
Company A | 3000 | 5000 | 4000 | 5000 | 5000
Company B | 1000 | 1000 | 1000 | 2000 | 2000
Company C | 4000 | 2000 | 2000 | 2000 | 3000

For which of the following pairs of years the total exports
from the three Companies together are equal?

(a) 2011&2012 (b) 2013&2015
(©) 2011&2014 (d) 2014&2015
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DIRECTIONS (Qs. 187-188): Refer the below data table and

answer the following Question. (SSCCHSL 2017)
Year Profit or (~Loss)
in Rs Crore

2011 -10

2012 5

2013 10

2014 -15

2015 =5

187. What was the total Profit or Loss of the company in last 5
years?
(a) Profitof ™ 15 crores (b) Loss of ~ 5 crores
(c) Lossof ™ 15 crores (d) Profit of ™ 25 crores

188. Refer the below data table and answer f‘o]lcuwing Questicm,

India's exports in 2015 | Value in million US$
Jewellery 675
Software 500

Cotton 525
Steel 575
Electronics 725

Jewellery was what percent of total exports?
(a) 25percent (b) 27.5 percent

(c) 22.5percent (d) 20 percent

DIRECTIONS (Qs. 189-190): The following bar diagram graph
depicts the sales of items (in lakhs) in a departmental store from
April to August in the current year. Study the graph and answer
the following questions using the data provided here.

(SSCMTS 2017)
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189. The sales in july is how many times to sales in May?

(a) 300 b)) 3 (c) 25 (d 2
190. The average monthly sale (in lakhs) is:
(a) 600 (b) 780 (c) 650 (d 720

DIRECTIONS (Qs. 191-194) : The bar graph given below
represents the total population and male population (in '000) of a
city, during the period of 2013 to 2016.  (SSC Sub. Ins. 2017)

M Male [ Total population

80
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50

50
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2013 2014 2015 2016

Year
191. What is the ratio of male and female population respectively
in 2015?
(a) 12:7 (b) 5:7 () 7:5 (d 5:3
In 2016 male population is how much percent more than the
female population?
(a 25 (b) 20 € B (d 28
193. In 2014 female population is what percent of total population?

(a) 6296 (b) 3703 (c) 20 (d) 3113
194. Female population in 2015 is what percent of female

population is 20147?

(a) 25 (b) 80 (c) 150 (d) 125
DIRECTIONS (Qs. 195-199) : The pie chart given below shows
the expenditure (in percentage) of Mahesh. The monthly income
of Mahesh is ~ 26000. (SSC Sub. Ins. 2017)

192.

Miscellaneous Saving, 22%

17%

Food
18% Fuel, 20%
Rent, 8% Transport
15%

195. How much does he spend (in ") on Rent?
(a) 2080 (b) 2275 (c) 2470 (d) 2840

196. How much more does he spend (in ) on the saving and fuel
taken together than transport?
(a) 5850 (b) 6060 (c) 7020 (d) 8420

197. Had his income been = 22,000, how much less he would
have spend on Miscellaneous (in ")?

(a) 510 (b) 680 (c) 765 (d 935
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198. If he invests 65% of his savings on purchasing gold then

number of students whose height is in the class interval

how much amount (in ~) does he spend on gold? 160 - 1657 (SSC Sub. Ins. 2018)
(a) 3312 (b) 4124 (c) 3522 (d) 3718 200 50
199. What will be the approximate difference (in ~) between the (a) T% (by 60% (c) 40% d —%

average expenditure on saving, rent and fuel and average
expenditure on food, transport and savings?

203.
(a) 433 (b) 444 (c) 417 (d) 467
200. | | Degree of Persons using different Ttansport (Total 1080 Persons) |
Train
Scooter
B Car
m Cycle
W Bus
In the given pie-chart, how many persons are using train to
reach their workplace? (SSC Sub. Ins. 2018)
(@ 380 (b) 360 204.
() 320 (d) 400
201. 6 15
14 1] 13 14
g 12 12
E 10 10 —
sl 0 H H M
5 617 1 1 [ -
oA HadE
Z 2 1 —  — 1
0 T T T T T 1
150-155 155-160 160-165 165-170 170-175 175-180
Height Class (in cm.)
In the given histogram, which class is the median class?
(SSC Sub. Ins. 2018)
(a) 165-175 (b) 150-155 205.
(c) 155-160 (d) 160-165
202. " Is
14 4+ ] 13 14
% 12 4 12
2 10 H 10 —
A o5l N R N B
: o1 L HH
fsdoHdddE
Z 2 4 — O — 1
0 T T T 1 T 1
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In the given histogram, the number of students whose height
is in the class interval 175 - 180 is, what percent less than the

| Degree of Persons using different Ttansport (Total 1080 Persons) |

Train
Scooter
W Car
m Cycle

M Bus

In the given pie-chart, the number of persons using a car is

what percentage of persons using a scooter?
(SSC Sub. Ins. 2018)

@ 75% (b)) 50% (c) 80%  (d) 60%
16 15
14 ] 13 14
4 12
E 12 4+
g 10 L 10 ]
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T —
E 4 7 — — — — —
=
Z 2 71 — — — — —
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150-155 155-160 160-165 165-170 170-175 175-180
Height Class (in cm.)

In the given histogram, what is the percentage of students
whose height is in the class interval 165-170?
(SSC Sub. Ins. 2018)

@ 18% (b)) 20% (@ 2% (& 15%
Number of Students enroll in different years
9004 Hlnstitute *A’ Blnstitute *B’
800 750
g 7007 600 600 '
2 600
& 500
S 400 65
2 4
= 300
= 2004
1004
0- A i :
2014 2015 2016 2017 2018

In the given bar graph, what is the ratio of students of A and
B in the combine strength from 2016 to 20187?
(SSC Sub. Ins. 2018)

(b) 20:19
(d) 19:20

@ 21:23
(© 23:21
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206.

207.

208.

| Degree of Persons using different Ttansport (Tctal 1080 Persons) |

Train
Scooter
W Car
m Cycle
M Bus

In the given pie-chart, what is the ratio of the total number of
persons using train and car together to the total number of
persons using other modes of transport to reach their
workplace? (SSC Sub. Ins. 2018)
(@) 5:6 (b) 5:3

(c) 4:5 (d) 3:5

Number of Students enroll in different years

Blnstitute “A” Blnstitute ‘B’
750
1650

200+

Number of Students
=y
3

In the given bar graph, the percentage decrease in the number
of students in Institute A in 2016 is what percent of students

in2015. (SSC Sub. Ins. 2018)
(@) 37.5% (b) 40.5%
© 355% (d) 395%
Number of Students enroll in different years
900 Elnstitute * A Elnstitute ‘B’
R00
£ 7001 650 00 650
2 600 >
E 5004 Z
c 4004 %
£ 300 %
Z 200 %
0 .
5 2016 2017 2018

In the given bar graph, the number of students enrolled in
institute B in the year 2016 is what percentage of students
enrolled in institute A in 20167 (SSC Sub. Ins. 2018)
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@) 120% (®) 220%
©) 8% @ 325%

209. The given Bar Graph presents the data of annual income

(A) and annual expenditure (B) of an IT officer in a multi-
national company during the years 2012 to 2016.

Z 12

z 10 10

g o

= g

2 B Vi 8

= 6 6

'E 6 OA
% 4 HB
e 2

20

E 2012 2013 2014 2015 2016

Lol Years

For which pair of years, the ratio of savings to expenditure is
- (SSC CHSL-2018)
(b) 2013, 2014

(d) 2012, 2015

equal?
(a) 2012,2013
(c) 2014,2015

210. The given Bar Graph presents the data of annual income (A)

211.

and annual expenditure (B) ofan IT officer in a multi-national
company during the years 2012 to 2016.

= 1

=

£ 10

2 8

E

= 6

=

2 4

5 s

2

E O “N12 2013 2014 2015 2016
2 Years

What was his average monthly savings (in ") in 2015 and
2016, taken together (correct to two decimal places)?

(SSC CHSL-2018)
(a) 1450633 (b) 14,967.67
(c) 1368767 (d) 14,58333
The given Bar Graph presents the data of annual income (A)

and annual expenditure (B) ofan IT officer in a multinational
company during the years 2012 to 2016.(SSC CHSL-2018)

=

2012 2013

2014
Years

2015 2016

Annual income & expenditure (in lakh)
= s oo
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What is the percentage of his total savings with reference to
his total income for the period 2012-15%(SSC CHSL-2018)
(a) 30% (b)y 275% (o) 25% (d) 20%

212. The given Bar Graph presents the data of annual income
(A) and annual expenditure (B) of an IT officer in a
multinational company during the years 2012 to 2016.

=

= 12

E o 10

o g

g 8 2 [ 5 8

£ 6 s e

g 6 5 S5 Oa
;&- 4 - — HB
I | |

o

E 0

E 2012 2013 2014 2015 2016

; Years

E

Z

What is the ratio between the ratios of Savings to Expenditure,
respectively for the periods 2012-13 and 2015-16?

(SSC CHSL-2018)
(b) 155:147
(d) 25:36

DIRECTIONS (Qs. 213-216) : The table below shows the number
of students enrolled in five colleges over the five years (2010 to
2014).

(a) 146:135
(c) 21:34

C‘;{Lﬁ“ A B C D E
2010 400 270 350 430 470
2011 430 300 330 450 490
2012 370 250 360 470 410
2013 410 310 370 420 430
2014 420 200 340 480 480

(SSC CGL-2018)
213. In the year 2014, what percent of students were enrolled in
college C (correct to one decimal place)?

(a) 169% (b) 173%

(€) 16.7% (d) 17.1%
214. What is the ratio of the total students enrolled in colleges A and
Bin the year 2012 to the total students enrolled in colleges D and
E in the year 20137
(a) 62:85 (b) 62:88
(c) 63:86 (d) 58:63
215. The number of students studying in college E in the year
2013 is approximately what percent of the number of students
studying in colleges B, C and D taken together in the year
2013 (nearest to one decimal place)?
(a) 382% (b) 386% (c) 39.1% (d) 394%
216. What is the average number of students studying in college
D over the given years?
(a) 450 (b) 420

(c) 430 d 440

DIRECTIONS (Qs. 217-220) : In the following questions, select
the related word pair from the given alternatives.

The Table shows the number of cars sold by three
showrooms over a period of six years.

Show- Year

room | 2011 2012 2013 | 2014 | 2015 | 2016
A 500 | 480 | 520 | 620 | 650 | 630
B 450 | 420 | 530 | 480 | 520 | 400
C 400 | 450 | 460 | 520 | 540 | 430

(SSC CGL-2018)
217. If the total number of cars sold by all three showrooms over

the years is represented as a pie-chart, what is the central
angle of the sector representing the total number of cars
sold in the year 2013 (to the nearest whole number)?
(a) 58 (b) 62°
(c) 60° (d) 56°

218. What is the ratio of the total cars sold by showroom B during
the years 2014 and 2016 and the total cars sold by showroom
C during 2015 and 20167

(@) 86:97 (b) 88:97
(c) B85:97 (d) 88:95
219. By what percent did the total number ofcars sold by all three

showrooms decrease during the year 2016, as compared to
that in the year 2015 (nearest to one decimal place)?
(a) 14.6% (b) 148%
(c) 144% (d) 149%

220. What 1s the average number of cars sold by showroom A
over the given six years (nearest to one decimal place)?
(a) 5867 (b) 566.7
(c) 594.7 (dy 592.7

221. The Bar graph given below presents the number of shoes
manufactured by a company on the different days of a week.

15007 1200
2 942 966 1034
10009 720 740
5 628
£ 5001
Z

0 I | I
DI D2 D3 D4 D5 D6 D7
Days

What is the total number of shoes manufactured by the

company on all seven days together? (SSC MTS 2018)
(@) 5930 (b) 6030
(c) 6130 (d) 6230
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222. The Bar graph given below presents the number of shoes
manufactured by a company on the different days of a week.

15001 1200
8 942 966 1034
= 1000 720 740
o 628
ié 500
z
U I I T I ] I
DI D2 D3 D4 D5 D6 D7
Days

The number of shoes manufactured on D5 is how much more
than the average number of shoes manufactured per day?
(SSCMTS 2018)
@ 7 (b) o4 (c) 76 (d) 68
223. The Bar graph given below presents the number of shoes
manufactured by a company on the different days of a week.

15004 1200

942 966 1034
720 740

628
5004

gl

DI D2 D3 D4 D5 D6 D7
Days

The number of shoes manufactured on D1 is what percentage
of shoes manufactured on D7? (SSCMTS 2018)
(a) 8045 (b) 60 (c) 80 (d) 7025

224. The given table shows the number (in thousands) of cars of
five different models A, B, C, D and E produced during Years
2012-2017. Study the table and answer the question that follow.

1000+

Number of shoes

1f2013 and 2014 are put together, which type of cars constitute
exactly 25% of'the total number of car produced in those 2 years?

(a) B

(b) E
226. The given table shows the number (in thousands) of cars of
five different models, A, B, C, D and E produced during Years
2012-2017. Study the table and answer the question that follow.

(© C

(SSC CGL 2019-20)
@ D

A|[B|C |D|E |Total
2012 |18 |26 |22 |23 |31 | 120
2013 |22 |18 |32 |40 |18 | 130
2014 |32 |43 |26 |35 |34 170
2015 |18 |22 126 |14 |20 | 100
2016 |36 |12 | 44 | 38 | 50 | 180
2017 |12 |48 | 40 |22 | 28 | 150
The percentage increase in the total carsin 2016 over 2012, is:
(SSC CGL 2019-20)
(a) 3333% (b) 45% (c) 50% (d) 6233%

227. The given table shows the number (in thousands) of cars of
five different models A, B, C, D and E produced during Years
2012-2017. Study the table and answer the question that follow.

A|[B|C |D|E|Total
2012 | 18 | 26|22 |23 |31 | 120
2013 |22 |18 |32 |40 |18 | 130
2014 |32 |43 |26 |35 |34 | 170
2015 |18 |22 |26 |14 |20 | 100
2016 |36 |12 | 44 | 38 | 50 | 180
2017 | 12 |48 | 40 | 22 | 28 | 150

A|B|C|D|E|Total
2012 |18 |26 |22 |23 |31 | 120
2013 |22 |18 |32 |40 |18 | 130
2014 |32 |43 |26 (35 (34| 170
2015 |18 |22 (26 |14 |20 | 100
2016 |36 |12 | 44 |38 |50 | 180
2017 |12 | 48 | 40 |22 | 28 | 150

In the year 2015, which type of car constitutes exactly 20%
of the total number of cars produced that year?

The percentage decrease in the production of which type of
carin 2017, with reference to 2016, was the maximum ?
(SSC CGL 2019-20)
@) C (b) E (c) A (d D
228. The table given below presents the number of books on
different subjects kept on separate shelvs. Subjects with
odd and even numbers are of Arts and Science respectively.

(SSC CGL 2019-20)
@ E (b) A (¢) D (d B
225, The given table shows the number (in thousands) of cars of five

different models A, B, C, D and E produced during Years 2012-
2017. Study the table and answer the question that follow.

A

B

C

D

E

Total

2012

18

26

22

23

31

120

2013

22

18

32

40

18

130

2014

32

43

26

35

34

170

2015

18

22

14

20

100

2016

36

12

38

50

180

2017

12

48

26
a4
40

22

28

150

Subject Number of books
81 26
S2 29
S3 31
S4 34
S5 36
S6 38
87 44

What is the ratio of the number of books of S1 and the average

number of books per subject? (SSC MTS 2019-20)
(a) 13:17 (b) 18:13 (¢) 14:17 (d) 14:13
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229.

230.

231.

Percent spent

The table given below presents the number books on
different subjects kept on separate shelves. Subjects with
odd and even numbers are of Arts and Science respectively.

Subject Number of books
S1 26
S2 29
S3 31
S4 34
S5 36
Sé 38
57 44

The number books of S3 is what percent (correct to one
decimal place) of the average number of Science books?

(SSCMTS 2019-20)
(a) 921 (b) 912  (c) 93.1 (dy 907
The Table given below presents the number of books on

different subjects kept on separate shelves. Subjects with
odd and even numbers are of Arts and Science respectively.

Subject Number of books
S1 26
S2 29
S3 31
S4 34
S5 36
S6 38
§7 44

What is the ratio of the total number of books on Arts to that
of Science? (SSC MTS 2019-20)
(@) 141:97 (b) 145:93 (c) 137:101 (d) 149:89
The given graph represents the percentage distribution of the
total expenditure of a company. Study the graph and answer
the question that follows.

307
25
254 25
204 175 22
15
154 "
104
5 | r
0 [1
o = - w5 o=
E 8§ § ¢ E§ E B
15 7] E £ = £ = -
g E 2 28 “ 8
Z = = 8 o 2
= = =4 _E

What is the ratio of the total expenditure on ‘Infrastructure’
and “Transport’ to the total expenditure on ‘Taxes’and ‘Interest

(SSC CHSL-2019-20)
(¢) 17:13 (d) 14:13

on Loans’?

@ 16:13 (b) 15:13

232.

Percent spent

233.

120
100
80
60
40
20
0

234.

Percent spent

The given graph represents the percentage distribution of
the total expenditure of a company. Study the graph and
answer the question that follows.

30T

25
25+ 22.5
204 175 20
15
15+ 10
0] H
5
5-- H
0 2 = = 5 2 § [ =
E 5 2 g & @ g
® = = 8 o =
L = ) 2
< E

The expenditure on ‘Interest on loans’ is what percentage more
than the expenditure on ‘Transport’? (SSC CHSL-2019-20)
(@ 5% (b) 2% (c) 4% (d) 3%

The following graph shows the performance in aggregate marks
of 2 board examinations ofa group of friends. On thebasis of
the graph, identify the girl who has shown the maximum
improvement from class X to class XII. (SSC CHSL-2019-20)

98
86

90

85 86

7982

| X
oXxll

62

I 1 I
Sunita Veena Meena Shivani Alka Madhu
(a) Veena (b) Alka (c¢) Meena (d) Madhu
The given graph represents the percentage distribution of
the total expenditure of a company. Study the graph and
answer the question that follows.

30T 25

25+ 225

204 17.5 20

15

15+

10 10

0 []
& © B 5 T E =
E E 2 gs ? B
g - 3 2z 5
= = e 3

< =

The total expenditure of the company is how many times
the total expenditure on ‘Research and Development® and
‘Salary’? (SSC CHSL-2019-20)

(a) 575 (by 875 (c) 7.75 (d) 675
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235.The following table shows day-wise number of seats

occupied of different classes in a train. Numbers in bracket
represent the total seats available in a particular class.

5;:::’ g::: AC-II | AC-II [ AC-Ist
Day | Non-AC|Non-AC (:;: ) (E:J ) fll;;;
(900) | (500)
Monday 850 460 480 | 240 145
Tuesday 840 400 450 | 230 120
Wednesday| 830 390 480 | 220 130
Thursday | 790 480 | 490 | 250 | 125
Friday 840 470 500 210 130
How many seats remained vacant taking all the days together
in non-AC classes? (SSC CGL 2020-21)
(a) 6350 (b) 715 (c) 600 (d) 585

236. Study the given bar graph and answer the question.

The bar graph given below represents the data of the
Production of Paper (in ten lakh tonnes) by three different
companies X, Y and Z during the years 2008 to 2012. The
x-axis shows the Yars and the y-axis represents the Production
of Paper (in ten lakh tonnes).

(Note: The data shown below is only for mathematical
exercise. They do not represent the actual figures.)

Production of Paper (in ten lakh tonner) by Three
Companies X, Y and Z during the Year 2008-2012

E EX OY @z

g 70

éf 60 55 55 A

é 50 15 -ISSU 45 5045 = 45

TE 0 m 35 35

£ 307

2 204

£ 10-

2o

= 2008 2009 2010 2011 2012

Years —»

What company/companies had the maximum average produciton
for the given five years period? (SSC CGL 2020-21)
(a) Y and Z both (b) X and Z both
() Y d) X

237. Bar graph shows the number of students enrolled for a vocational
course in institutes A and B during 5 years from 2014 to 2018.

W [nstitute A

@ Institute B

Number of students €nrolled —s

2018

2016 2017
Years —

2014 2015

238.

239.

In which year the number of students enrolled in institute A six
% less, where 25 <x < 30, than the number of students enrolled
in institute B in the same year? (SSC CGL 2020-21)
(a) 2017 (b)y 2016 (c) 2015 (d) 2014

The data given in the table shows the number of boys and
girlsenrolled in three different steams in a school over 5 years.

Arts Science | Commerce

Years
Boys | Girls | Boys | Girls | Boys | Girls
2012 | 48 36 40 35 35 45
2014 | 42 43 42 32 32 42
2016 | 45 42 38 30 36 38
2018 | 39 46 4] 23 28 34
2020 | 36 43 39 30 39 4]

The number of boys in Science stream in the years 2012 and
2016 taken together is what percent of the number of girls for all
the years in the Commerce stream? (SSC CGL 2020-21)
(a) 325 (by 39 (c) 35 (d) 455

Study the given graph and answer the question that follows.
A tea plantation company produces three varieties of
tea—black tea, green tea and herbal tea. The production of

three varieties (in million tonnes) over a period of six years
from 2014 to 2019, has been shown in the bar graph here. The
X-axis represents the years and the Y-axis displays the
production of the three varities in million tonnes.
Production of Three Different Varieties Black, Green and
Herbal Tea by a Tea Plantation Company over the years
(in million tonnes)
[ Herbal Tea

M Black Tea [J Green Tea

140 1
120 120

1204

100

100

[ + =) oo
(=] (=] < <
1 1 1 1

Production of 3 varieties of tea (in million tonnes)

2014 2015 2016 2017 2018 2019
Years

The average production ofblack tea in 2014, 2015 and 2018 is
how much more or less (in million tonnes) than the average
production of green tea in 2016, 2017 and 20197

(SSC CHSL 2020-21)
(b) Less, 13.33
(d) More, 13.33

(a) Less, 12.33
(c) More, 12.33
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240. Study the given bar graphs and answer the question that
follows.
The bar graphs represent the amount invested in raw materi-
als (in * crore) and the sale of the products, by a textile
company in the years 2007-2012. The X-axis represent the
years. The Y-axis represents the amount invested in raw
materials (in " crore) in figure 1 and sale of products in figure
2, respectively.
Amount (" in crores) invested in raw material by a textile

company from 2007 to 2012
Fig. (ii)
1200 1050 ‘Which institute(s) has/have the highest percentage of candidates
1000 passed tothe candidates enrolled? (SSC CHSL 2020-21)
800 (@ S (b) QandT(c) P d R

242. The number of students enrolled in different streams at
Senior Secondary level in five schools is shown in the given

bar graph.
Number of students in different streams in a year

[ES TN
g =

Amount (* in crores) invested
(=3
=

(=]

2007 2008 2009 2010 2011 2012

Years 90 2
Figure 1 20 T8
Sales of Products (" in crores) of a textile company from E_ 70 —10
2007 to 2012 E 60
— 5 60
-~ 2 50
= 1400 < 50
5 1200 1200 ?;: 0
£ 1000 L 90— s
~ s00 800 £ 30
B 600 £ 20
E o 400 Z 10
— 200
] 0 L L
5 0 A B C D E
5 2007 2008 ;ml[)‘?eﬂrs 2010 2011 2012 Schools
Figure 2 M Science O Humanities & Vocational
In which year was there a maximum percentage increase in What is. the total number of students enrolled in the Science
the sales of products as compared to the previous year? stream in all the schools? (SSC CHSL 2020-21)
(SSC CHSL 2020-21) (a) 267 (b) 268  (c) 263 (d 257
(a) 2008 (b) 2010  (c) 2011 (d) 2009 DIRECTIONS: (Qs. 243-245): Study the following graph and
241. The given pie charts represent the distribution of candidates ~ answer the question that follows.
who enrolled for a bank clerical examination and the candi- Target and Actual Production of Ac’s (in thousands)
dates (out of those enrolled) who passed the examination, _ of a factory over five months

from five different institutes P, Q, R, Sand T.
Study the pie chart and answer the question that follows.

(i) Total number of candidates who enrolled for the exam-
ination from five institutes = 5500

120
100 100
" 80 % 59
60
50
30 |—|

January February March April May
Months

Production (in thousands')
[, g
[-X-E-]

B Target BActual
20% 243, The actual production of ACs in March is what percentage
more than the average target production of ACs over the
Q period of 5 months (correct to the nearest integer)?
30% (SSC Multi-Tasking 2020-21)
? (a) 40% (by 39% (c) 38% d) 4%
244, In which month is the actual production of ACs 20% more
Fig. (i) than the target produciton? (SSC Multi-Tasking 2020-21)
(i) Total number of candidates who passed the examina- (a) February (b) May (c) April (d) March
tion from five institutes = 3300
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245, The ratio of the actual production of ACs in March and April The difference between the number of students whose
to that combined target production of ACs in January and height is between 150-155 c¢cm and the number of students
April, is: (SSC MTS 2020-21) whose height lies between 175-180 cm is:

@ 5:6 () 2:5 (© 52 () 6:5 @ 8 ®) 9 © 3 d 7
246. The given histogram shows the height of the students. 249. The given bar graph shows the number of students of two
(SSC Sub-Inspector 2020-21) schools over a period of six years.
= 20 (SSC Sub-Inspector 2020-21)
< 15 . 14 mSchool A BSchool B
g 15 13 12
< 10 10 T 1000
S s 6 900 900
v]
T 0 |
=
Z

@ O 15,
AN 5“ AR

Height of the students in ¢cm

The number of students whose height is in the class interval

170-175 is what per cent less than the number of students

whose height is in the interval 165-170?

(correct to one decimal place)

(@ 143% (b) 195% () 11L5% (d) 173%
247. The given bar graph shows the number of students of two schools

over a period of six years.  (SSC Sub-Inspector 2020-21)

2008 2009 2010 2011 2012 2013

In the bar graph, what is the ratio ofthe students taken for the
years 2009, 201 L, 2013 together from school A to the students

BSchool A BSchool B

taken for the year s 2008, 2012 2013 together from school B?
(a) 17:25 (b) 18:25 (c) 25:17 (d) 25:18
250. The given histogram shows the height of the students.
(SSC Sub-Inspector 2020-21)
5 20
% 15 15 12 I 4
g — 10 12
s 10 o
V]
T 0 |
=
Z 5 D ’\Q 15 \®
| A N AN o N
RN sz Nk
2008 2009 2010 2011 2012 2013 Height of the students in cm

In the bar graph, what is the ratio of the average of the total
students from school A to the average of the total students
from school B?
(a) 429:799 (b) 429:370
(c) 799:429 (d) 370:429

248. The given histogram show’s the height of the students.

What is the percentage of students whose height is in the
class interval 160-170 ? (correct to the nearest integer)
(a) 51 b)) 4 (c) 25 (d) 39

251. The given pie chart represents the popularity of ice-cream
flavours in the year 2005.  (SSC Sub-Inspector 2020-21)

(SSC Sub-Inspector 2020-21) 2&5
£ -
15 er
21 B 15.7%
n.é 10 —— Vanilla
5 21.9% Strawberry
T 0 | 18.9%
5 A Chocolate
> O 15 W 32.7%
A2 AR A I A1y Butter
B0 A9 AT @ T 1Y Scotch
10.8%
Height of the students in cm
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In 2005, if 10% of the “other” category is mix fruit flavour and
1570 people surveyed preferred mix fruit flavour, then how
many people were surveyed?

(@) 1,75,000 (b) 4,00000(c) 1,50,000 (d) 1,00000

252. The given pie charts represent the popularity of ice-cream

flavours in the years 2005 and 2015.
(SSC Sub-Inspector 2020-21)

2015

Chocolate
32.7%

Chocolate
25.8%

Scotch
10.8%

Ifa percentage point shift results in annual additional sales
of “10,000, how much (in "), did the combined annual
strawberry and butterscotch sales increase from 2005 to
20157

(a) ~ 74,000
(c) ~ 65,000

(b) " 37.000
(d) ° 10,000

253. The given bar graph shows the number of students of two

schools over a period of six vears.
(SSC Sub-Inspector 2020-21)

B School A

B School B

2008 2009 2010 2011 2012 2013
In the bar graph, in which year is the sum of the students
horn schools A and B taken together, the minimum?
(a) 2010 (b) 2013 (c) 2011 (d)y 2012

254, The given pie chart represents the popularity of ice-cream

flavours in the year 2015.  (SSC Sub-Inspector 2020-21)

2015

In 20135, ifthe total sale of vanilla flavour is for = 3.500. then
the total sale (in ™) for chocolate flavour is:

HINTS & EXPLANATIONS

yasin got the minimum votes.
= 360° =720

~60°= 720 60=120
360

(©)

Sivaraman got the maximum votes. i.e.

720120 = 240 votes
360

@)

He was the winner.

(@) Angles of the difference of votes of the winner and the

nearest rival =120-100=20°

. 360° =720

200222920 =40

360
(@) - 45°="9000
9000
55° = % 55° =" 11000
T 450

po

10

(@ ~3320 (b) ~4120 (c) " 4,100 (d) 5160
(c) --45°="95000
9000
L 160°= ——x160° =" 32000
45
@ - 45° =" 9000
9000
. 3600= 25 x360° =" 72000
(¢) Requriedratio=3:2
(b) Required difference
(30(}0+600+2400+12(}0+3300)
- 5
(1500+1800+900+2700+1500)
5

=2100-1680=420 tonnes

Requried val —2?00—18
equried value= oo =1.

@

_ 600
Required percentage= ——x 100 =25%

© 2400
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11.

12
13.

14.

15.

16.

17.

18.

19.

20.

21.

22,
23.

@

©
@)

©
©
®)

©

®)

(©)

(@)

o)
@

6
Required answer = 5= 04

It is obvious from the graph.

Total cotton production in state

C=(6+11+15) lac > 100 kg=320000000 kg

Only one state is production of cotton in (2005 —2006)
is less than the previous year.

In 1981, no. of service workers

=15% of 150 =22.5 million

In 1981, no. of categories more than 25 million workers
i.e. more than 16% of 150.

More than 16% is — Professional, clerical, Blue collar
Le.3.

Ratio of workers to professional in 1981 to 1995
Professionalin 1981 — 18%

= 18% of 150=27

Professional in 1995 — 24%

= 24%0f 175=42

.27 9
Ratio 214 9:14
Clerical % in country X in 1981 =20% of 150 =30
Clerical % in country X in 1995=18%of 175=31.5
So, increase = 1.5 million
% of Blue collar workers in 1981 =28% of 150 =42
% of Blue collar workers in 1995

=20%0f175=35

42—35“0D _ lé%%

% decrease =
No. of people who prefer flute= 11% of 60,000
= 1 60000=6600
100

2100 people be less from the people who prefer flute.
Therefore, 6600—-2100=4500

00 %x100=7.5%
60000

Total number of people who prefer either Sarod or Guitar
= 14% of 60000 + 22% of 60000

= 8400+ 13200=21600

Total number of people of who prefer violin or Sitar
=20% of 60000 + 14% of 60000

= 12000+ 8400 =20400

Required difference =21600—20400=1200

Required percentage =

Required number = 14% of 60000 = % x 60000 = 8400
No. of people who prefer piano = 9% of 60000 = 5400

According to question, lﬁ%% no. of the people who
prefer piano would go with flute.
Therefore, 5?0% of 5400 =900

Hence, the required percentage
900 +11% of 60000
- 60000

900+ 6600
T 60000

=100

x100=12.5%

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

@

@

@

b)

(©)

(a)

(@

(@

®)

(©)
()

()

. (a)

No. of people who prefer guitar =22% of 60000 = 13200
No. of people who prefer Flute or Piano= (11 + 9)% of
60000= 12000

Required difference = 13200— 12000 = 1200.

%100 =16

o

9=£x360= ﬁ=5'a’.6"
100 10

Required difference (in % value)
1813 100=2 x100=162%
18 18 3
Given,
Miscellaneous expenditure=" 1848
=> 4% of the total expenditure cost for publishing 5500
copies=" 1848
= Total expenditure cost of 5500 copies (i.e. 100%)
_ 1848x100

" 46200
B dit _ ‘46200—‘34{}
= Expenditure cost per copy = —- == 5.
So, marked price ofeach copy= " 8.40 + 25% 0f 8.40
=8.40+2.10
="10.50
Cost of printing i.e., 35% = 17500

17500
So, Royalityie., 15%= ?x 15=7500

Miscellaneous charges i.e. 4% = 6000
So, Advertisement charges i.e., 18%

= 6000 %18 =27000

Required percentage increase

40-30
= x100=—

- 33%%

Income of company in 2002
="40 lakhs

Expenditure of company in 2003
=" 40 lakhs

Profit of company in 2004

=" 25 lakhs

Required difference
=20-10="10lakhs

Average income of company

_ 30+50+40+60+60
5
=2;;0=‘ 48 lakhs

The incomes of company in years 2001, 2003 and 2004
were greater than " 48 lakhs.

Requiredratio=2:5

It is obvious from the bar diagram.
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. 121 60 2
37. (@) Required average= 7= 30.25 lakhs 46. (a) Requiredvalue = 360 x100 = 165%
38. (@ Requiredrange=16-3=13 lakhs 47. (¢) Question is wrong.
10 Reduired 46 10038 48. (b) Average profits earned in all the given years
- () Required percentage =_—-x100 = _ 424244 42460+544 72466 _ 360 __
40. (¢) - 72lakhs =360° - 7 7
This is approximately equal to the profit earned in the
_ 360 1995
2. 12 lakhs = ——x12 year 1753,
72 49. (¢) Question is wrong.
60° =S, 50. (c¢) According to graph,
41. @) Populat-ion of region S Difference between_ the maximum and minimum
! temperature was maximum on Saturday.
_ % %72 = 9 lakhs 51. (b) Students having both scizgce and commerce
3 =(29+431)% of200=ﬁx200=120
Males = —x9 = 5.4 lakhs Students who have taken neither science nor commerce
. 5 . = Total students — Students having both scicence and
Population of region S, commerce
360 52. (c) Percentincrease= 30 100 =18.75
Males = Ex 71 = 8.4 lakhs 53. (b) Total production: N
5 Wheat = 3700 million tonnes
Sum=>5.4+84=13.8lakhs Rice = 2000 million tonnes
42. (c) Population ofregion S, Barley _ = 1800 million tonnes
135 ) Other cereals = 2400 million tonnes
=——x72=27 lakhs
360 . 3700
Required answer = %100 =37.37 = 374
! 27 =5.4lakh »
Females = gx - S 54. (a) Percentageincrease:
- on S, =20 72 =12 lakhs Rice= 2100 = 40
Population of region S_= 360 = 200
= L x12=42lakh Cereals= 2 x100 =38
Famales—%x = 4.2 lakhs ereals = 20 =
Required ratio=5.4:4.2=9:7 30
43. @ Population in 2009 Barley= o~ >100 =7.8
60 100
Region §; =72x£x@ = —lakhs Wheat= ——x 100 =13.88
360 105 7 720
100 15 25 So, answer (a) is correct.
Region S3 = Ex 360> 72 = o lakhs 55. (d) Required difference
60 25 12 5 2000 _ 1800 400-360=40million t
= ————— =400-360=40million tonnes
. Required ratio =—:— =—:—=108:35 5 5
79 79 56. (a) Percentage decrease
44, (¢) Number of females : 100 )
According to above explanation, _ 60-40 x100 = —=33-%
Region S =9—5.4=3.6 lakhs 60 33
Region S, = 5.4 lakhs 57. (a) Average annual production:
1
Region Sy = 3x % = 0.9 lakhs Flavour X = Ex 300 =50 lakh bottles
1 1
Region S, =21 —-8.4=12.6 lakhs Flavour Y = EX325 = 546 lakh bottles
Re g;ionhSS = 42lakhs 1 i
—x300 =
(3.6+54+09+12.6+42) Flavour 2= 0300 =50 lakh bottles
Average = 3 =534lakhs 58 (¢) Total production offlavour X in 2005 and 2006 =90
45. (d) According to graph, the expenditure in the year 1993 Emal Pt:jductmn of flower Zin 2007 and 2008 = 120.
was 30% more than the expenditure in the year 1991, the equired percentage
income in the year 1993 exceeds the income in the year _ 120 <100 =133.3

1991 by 30% of the expenditure in the year 1991. " 90
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59

61.

62.

63.

65.

67.

68.

70

. (@)

@

@

@)
®)

@)

@

(b)

@)

- @
69.

(@)

. )

Percentage increase/decrease:

Year 2007 = %100 =16% decrease
55-50 .

Year 2008 = %100 = 10% increase
55-50

Year 2009 = < %100 = 9% decrease

Required difference

L[(55+50+55) - (50+40+55)]

3
1 15

= 5(160-145) = = =5 lakh bottles
1

1000

: °= ——x360 =
~.360° = IODX 3600

Required ratio

=100:120=5:6

Difference between the angles of students of commerce
and science

-+ 100°=1000

S 1°=10

Difference between commerce and law=(65°—45°)=20°
- 20°=200

Required average
= %x24000x (47 +4+18)%

_ l 5 24000 x 69 —~5520
3 100
Expenditure on grocery
_25000x14
=0 - 3500

25000x9

Expenditure on electricty = 00 - 2250

Required ratio
_ 2400018 25000x 2

100 100
=24x18:25x2=216:25
Expenditure on education in April

24000 a7 _. 11280
= ® — =
100

Expenditure on education in May
25000 x50

100
Percentage increase

12500 -11280
=7X100= 0,
11280 10.82%

Required ratio=100:40=5:2

Required number of students

=4+6+10+8+5=33

The maximum number of students got the mark in the
internal

=(20-30)=10

="12500

75.

76.

71.

78.

79.

80.

81.

82.

83.

- @

- (0
- ()
- @

b)

@)

@

(©)

(b)

()

@)

@

The minimum number of students got the mark in the
interval

=(0-10)=4

Requiredratio=4:5

The question is incomplete.

Expenditure on agriculture

~ 2 1000
360

" 200 crore

Total students in 2001 —2002 = 1350
.. Required percentage

_ 400
1350
Total students in 2003 — 04 = 1600
.. Required percentage

250
=——x100=15.6%
1600

x100=29.6

Required percentage increase

_600-400 60 = 50%
200

135 810

x 360

1As . Arn

135 %360

810
=> 60° which is in english
English + Physics + Social Science = 200°
Maths + Chemistry = 160°
Required percentage

_ 40 100=25%
160

X =

Difference of corresponding angles :

Physics and Chemistry=85—-70=15°

Chemistryand Social science=70—-55=15°

So, required answer is (c)

Sum of corresponding angles of Maths and Chemistry
=90+ 70=160°

Sum of corresponding angles of Physics and Social
Science

=85+55=140°
Difference=20°

"+ 360° =810

o200 E&XZO =45
360

Central angle of the sector for cost of the paper

16

=wx3ﬁg¢ =@x36|}°=57.6°

100
Ifthe cost of paper =" x, then from the given pie-chart
_16%
Miscellaneous charges 4%
x 16 16x 6000
= iI=—0Q
6000 4 4

Cost of paper

" 24000
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84. (a) Given, 98. (¢) Royality of book =15%
Miscellaneous expenditure = 1848 Printing of book =20%
=> 4% of the total expenditure cost for publishing 5500 - Royality of book is less than printing cost by 5%
copies = 1848 20
=> Total expenditure cost of 5500 copies (i.e. 100%) 99. @ C.P+ 100 xC.P =180
6
=:}184{53:100 — 46200 EC-P=18(}
CP=150
- Expenditure cos p copy = “—nt” = 840 Paper cost = 15% of C.P
.. So, marked price of each copy=8.40+ 25% of 8.40 E x150 =22.50
=8.40+2.10=10.50 100 _ e .
85. (¢) By observing the graph, we can say that yr. 2009 has  100- @ Anglifor saving =0360 —(72°+72°+72°+ 108°)
maximum percentage of students passed in the year. =360°-324°=36
86. (d) By observing the graph, we can say that difference of ) 36 .
pass percentage between male and female is maximum - Savings = 360 60,000=" 6,000
in2007.

87. (a) By observing the graph, we can say that maximum 101.(@) According to graph, only opton (a) is correct.

ber of student ived pocket bet 9000 .
?Suoni 3?5}0 students recetved pocket money between 102.(¢) Expenditure for education = 30 x18="5,400
88. () Requiredanswer=20+12+16=48 103.(b) Central angle of the sector for the expenditure on fuel =
89. (d) Total studentsin 2008=170
Students passed in 1st division = 20 360 %15 =54°
.. Required percentage 100
104.(c) Expenditure excluding rent and education
20 200 13
= —x100="—=11—-% 3000
170 17 17 = % (100-20-18)
90. (d) Total studentsin2008=170 20105X 62=" 12400
Students fail in 2008 =30 - -
. Total students pass in 2008 = 170~ 30 = 140 105 0= of(12+ I8+19)
140 1400 6 30=—x45
.. Required percentage = — x100=——=82—"% 100
170 17 17 200 2
91. (c) By observing the graph, we can say that percentage of x= 3 = 665
the best result in 2010. 106. () Required difference=(20+ 12+ 15)—30
92. (b) Total number of students pased in third division in the =47-30
year 2008 =60 =17%
93. (a) Total students passed in 2nd division in 2010 = 60 107.(b) Required ratio=(100+ 160): (180 + 60)
total students in 2010=200 =260:240=13:12
100
60 ; _
.. Required percentage= 200 x100 =30% 108.(c) Required %= (100 +160 + 240+ 40) *100
115.2 =@x100z18.52%
94. (a) The costoflabour =96000 x S60 30720. 540 120
95. (d) Difference of cost of material and direct expenses 109.(d) Required % = (180 + 60+ 120 + 20) x100=31.58%
~ (144-432) 96000 110. (b) Total students using Samsung =100 + 180 =280
- 360 x Total students using Sony = 160+ 60 =220
o Difference =280-220=60
_ 1008 56000 — 26830 111. (@) Saleofbranch BS in 2000 =75
60 ' Sale of branch B6 in 2000 =70
96. (d) Marksin Hindi=70 75+70
Marks in English =40 Averagesale= —— =72.5
ks — Marks in Hindi+ Marks in English and
Average marks = 2 Sale of branch BS in 2001 =95
70440 Sale of branch B6in 2001 =80
Average marks= =55 95+80
97. (@) Marksin Maths =280 Average sale= =87.5
Marks in History = 60
- Ratio=80:60=4:3 Hence,

Difference=87.5-72.5=15



Data Interpretation

273

112. @)

113. @
114. (a)

115. (a)

116. (b)

117. @
118. (a)

119. (¢)

120. @)

121. (b)

122.(a)
123.(c)

124. ()

125.(c)

126. (b)

127.(c)
128.(%)

Total sales of branches B1, B3 and B5.
=(80+105+95 + 110+ 75+ 95)= 560 thousand

75+65 140 7

85+95 180 9

Average sale of B1, B2 and B3 in 2001.
_ 105+65+110 _ 280

3 3
Average sale of B1, B3 and B6 in 2000.

80495470 _ 245
E 3
245

Required ratio =

. 3
= ——x100=87.5%
Required % 380 - o

3
Sales of books B3 in 2001 = 110 thousand
Sales of books B2 in 2001 = 65 thousand
110-65

% increase = %100 =692

By observing the graph, we can say that number of
patient of age between 55 years to 60 years who got
admitted to the hospital on that day is 4.

More than 55 years=4+3+2+1=10

Number of patients of age more than 40 years and less
than 55 years=8 +7+5=20

Total patients = 35

14448
e 100 ~37%

Required % =

11
o =—x35=38=4
11% of 35 100

So, either between 35 years and 40 years or between 55
years and 60 years.

Number of students scoring less than 50%
=(240+220+300+280+210)=1250

Number of student scoring exact 50%
=(30+20+0+35+15)=100
Ratio=1250:100=25:2

Number of students scoring 50% or more marks
=(600—240)+ (400 —220) + (375 —-300) +(350—280) +
(300-210)

=360+180+75+70+90=775

Profit during 2006 =(60—35)=25

Profitduring 2007 =(50—40)=10

Difference= 25-10=15

40+60+50+65+70 285 57

5 5
Income during 2005 and 2007 is less than average

Average Income=

Required % = x100 =25%

Itis clear from the graph.
% increase in quantity from 1997 to 1998
150-130 200
= ——x100==—=15.4% (app.
30 13 ° (@pp.)
None of the options are correct.
Correct answer is 15.4%.

129.(*)

130. (b)
131. (0)

132. @)

133. (b)

134.(a)

135. (@)
136. @)

137. (c)

138. (b)

139. (c)

140. (b)

141.(¢)

142. (a)

143. @)

% age fall in value from 2000 to 2001
500-120

~ 500

None of the options are correct

Correct answer is 76%

Difference between the bags exported in 1999 and 2000

=200—100=100 lakh =100,00,000

Itis clear from bar graph

Value per bag is minimum in 1996.

Ratio of amount spend on food and clothes

=150:30

=5:1

% money spent on food compared to house rent

:@xlﬂo =125%
120

380
100 =——x100=76°
X SDI}X 76%

Money spent on clothes and miscellaneous items
cannot be determined as total money is not given.

150
Amount spent on food = 7200 =" 3000

Average production of the given years
_ 25+40+60+45+65+50+75+80

8

=3 -

So, during 1997, 1999, 2001 and 2002 production was

more than average production.

% increase in production in 2002 compared to that of

(B0 -25) <1
25

% age decline in production from 1997 to 1998 is

60-45 100= B x100=25%
60

55
1995 = 00= EXIO(] =220%

40+60

Average production of 1996 and 1997 = 50

Average production of years 1995 and 2001
_25+75

2
So average production of 1996 and 1997 is equal to

50

average p_roducl ion of 1995 and 2001.
Percentage increase in production as compared to

40-25

previous year is maximum in 1996 = x100=60%

Production of electronic items is highest in 2011
i.e. 13,000+9,000=22,000
Production of LCDin 2011=9,000
Production of LCD in 2013 = 12,000
9,000 3
12,000 4
Total production of TV from 2009 to 2012 = 39,000
Average production of TV = 9750
Total production of LCD = 35400

Average production of LCD= 8850
Their difference =9,750 — 8,850 = 900

Ratio=
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144. (c)

145. (a)

146. (b)

147. @)
148. @

149. (b)

150. (a)

151. (¢)

152. (@)

153. (b)
154. (a)

155. (c)

6,000
9,000

Ratio of production of TV = 2:3

60
Monthly savings = %X%UGO =" 6000

Yearly savings = 6000= 12=" 72000
Let total expenditure be ~ x

xx(70°-54°)

360 =1600
xx16
=1600

= 7360

x=" 36000
- Expenditure on food = —-x 36000
.. Expenditure on =360
=" 12000

i i 120 2

Ratio of Expenditure = E=T:2 .1

History and Chemistry = 15% + 15% =30%
1 9

Time Spent= 45hr = Ehours
Physics = 20%, hours-spent in physics =x
30 20

57—

% x

= E *Q=73hr
60
Chemistry%  Geography%

Chemistryhr  Geography hr
15 10

3 x

X=£=2h
15 ours

Total %  Math %

Totalhr Math hr
100 30

10 X

Other hours study = 15%
Then in Math =30-5=25%
Difference = 5%

Total%  Difference %

Totalhr  Difference hr

100 5

20 x
x=1hr
By observing the graph, we can say that study increase
of income in March to May.
By observing the graph, the ratio of the income to that
of the previous month is the largest on March.
Income of February=4
Income of May = 13

13
.. Required answer = Y =3.25

Total income of irm=7+4+9+11+ 13 =44

156. (b)

157. b)
158. (a)

159. (d)

160. (a)

161. (d)

162. (c)

163. (c)

164. (a)

165. (a)

44
.. Average monthly income = 5= 8.8

Average height of all the peaks
8200 + 6000 + 8600 + 7500 + 8800 + 6500

6
45600
6
=7600
According to bar graph,

Peak of C is the second highest.
Highest peak = 8800
lowest peak = 6000

8800
Ratio= ——=22:15

6000
Ascending order 6000, 6500, 7500, 8200, 8600, 8800
7500 + 8200
Middle two average = —
15700
=——=7850m
2
P 1 — M %100
ercentage increase = 10000

=18.4=18 (approx.)
Total investment in Electricity and Thermal energyin
1995

=(815.2+632.4+2065.8+1232.7)=4746.1
4746.1x100

10000
Using approximation method,

(23-20) %100

20

(98— 74)
74

Percentage = ~ 47.46%

Electricity= =15%

Chemical = %100 =32%

Solar

=%_313)x100=30%

(21-16)

Nuclear = »x100=31%

.. So, answer (c) is correct.

Total investment in District A

=(2923. 1+ 3489.5)= 6400 (approx)

Total investment in District B

=(7081. 6+ 8352)= 15400 (approx)
15400

=24
6400

% increase from 95 to 96 =% increase from 96 to 97
(8352.0-7081.6) (x-R8352.0)

Required answer =

7081.6 8352
1270.4 _X —8352 — x — 0850
7081.6 8352
40+90+70 200
. = —— T —30:23
Required ratio 1005080 230
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166. (c)
167. (b)

168. (c)

169. @)

170. (b)

171. (a)
172.(c)

173.(b)
174. (@)

175.(c)

176. (b)

177.(c)

178.(c)

179. @)

180. (c)

80+40+90+70+70
. =
The class X has the highest number of passed students
70+100+ 50+80+90
5

Average = 70

Average number of girls =

=78
The number of boys passed in class VI =80
.. Required answer =class V1.

Required average number
(260+320+300+480+360) 1720
5 s
Required percentage
(350+240)

= e 100 =
(300 +320)

5900
62
) - (360+420) 780
Required ratio = m =70 =
Required average

% =95% (approx)

13:12

= é x (2804360 +340+ 200+ 330)

= %xlSlO =302.

1200 x 23
Total shoes of Reebok brand = 00 =
Required difference =(21%— 13%)=8%
_ 1200x8 %6
©100
Difference between number of shoes of Reebok and
Nike=(23-18)=5%
Similarly, difference between number of shoes of Nike
and Vans=(18-13)=5%
So, correct answer is (c).

(21-18)

276

x 100

Required answer =

3
=5 ¥100 =16.66%

Reduired diff _500x(9—4)
equire erence T
=500x5=25‘

100
Reauired time = 600 x 46
equired time = 2100
=69 hours.
Reduired i ~ 800x29
equired time 100
=232 hours.
Reauired | _ 5.4x360°
equired angle = 100
=19.44°,

Total time taken to make a car = 300 hours
Total time taken in paint and frame
_ 300

=2 x35=
100 % 105 hours.

Total time taken in glass

= %XS = 256 hours.

181. (c)

182. (a)

183.(d) --Total time taken in engine and tyres
=127.5 hou_rs 1275
Total time taken to makea car = 1
=250 hours.
Required difference
[250)(22 _250x8

——h =(55-20)=
100 100 ) ours = (55—20)=35 hours

Time spent on quality check = 15%
As, this time is taken equally from 6 process, thus time

x 100

184. (b)

15
in each process will be reduced by = i 2.5%
Initial time taken by seats an glass=6+ 8 = 14%
New time taken by seats and glass
=(6-2.5)+(8-2.5)=9%

9
. i = —x360 =32.4°
.. Sectorial angle 100 x 324

-» Number of employees=(3 +8+4)=15
Total bonus of all employees
_[3x30x30+8x16x20+4x2x20)
U 100 100 100
=27+25.6+ 1.6 lakhs=54.2 lakhs.

5420000
15

185. (¢)

.. Average bonus = =361333.33 361333

186.(a) Total exports from the three companies in 2011
=3000+ 1000+4000
=8000

Total exports from the three companies in 2012
=5000+ 1000+2000
=8000

.. option (b) is correct.

Loss of © 15 crores in last 5 years.

Export of Jewellery in 2015= 675

Total exports in 2015 =(675 + 500 + 525 + 575 + 725) =

3000

187. (¢)
188. (¢)

675 %100
3000

Required percentage = =22.5%

189.(b) Total sales in May =300

Total sales in July=900
The sales in July is three time to sales in May.
Required average monthly sale

_ (500+300+800+900+1100)
5

190. (d)

=720.
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35 7 Averge expenditure on food, Transport and saving
191.(¢) Requiredratio =E=g=?:5 14300
192.(a) -- In 2016, Male population =40 thousands. 3 ] .
In 2016, Total population = 72 thousands. Required difference
.. In 2016, female population = (72—40)=32 thousands. B [14300 13000) 1300 433
Required percentage U3y 3 )T 3y T
(40—-32) 8 200.(b) Total number of persons = 1080.
== % 100 = (5 x 100] % =25% Degree of persons using train = 120°,
120
20 %100 - Number of persons using train = 3> 1080 =
193.(b) Required percentage = [ j % . . .
54 201.(d) Here from the given histogram, we see the median class
=37.03% is 160 —165.
194.(d) According to the graph, 202.(c) Number of students whose height is in the class interval
In 2015, Female population = (60 —35) 175-180=6
= 25 thousands Number of students whose height isin the class interval
In 2014, female population = (54 — 34) = 20 thousands. 160-165=10
. 10-6 4x100
Required percentage = (25 , 100) % =125% % Difference = X100 =22 = 40%
195. (@ Total moneygspend on rent 203.(c) Number of persons using scooter =080 xi =150
= 26000 x — = 2080
15 umber of persons using car — 1080 x — =120
196. (c) Total spend on transport = 26000 x 100~ 3900 *360
Total spend on saving and fuel 120
P & Required percent = ——x100=80%
42 150
= 26000 -~ =10920 204.() Total number of students =15+ 13+ 10+ 14+ 12+6
. . _ 3 _ =70
197. (b) Eg:lred difference =(10920—3900) =7020. Number of students in class interval 165—170=14
Income =22,000 Required percent = 1% 100 = 20%
17 70
Spent of miscellaneous = 22000 x 100 =3740 205.(b) Total number of students of A in 2016 to 2018
When. Income = 26000 =500+450+750=1700
’ Total number of students of B in 2016 to 2018
17 =600+365+650=1615
Spent of miscellaneous = 26000 x — = 4420
100 ] 1700 20
Required diffeerence = (4420 —3740) =680 Required ratio = 1615 19
198.@) - Total income =26000 206.(c) Total number of persons using train and car together
. 22
Saving =260me=5720 _ (%Jr%)xmso
Spend on gold = 65% of saving
160
65 x 5720 =——x1080 =
R L 360 480
199.(a) Total expenditure on saving, rent and fuel Total number of person using other mode of transport
50 =1080—-480=600
=26000x — =13000
100 . . 480 _4
Average expenditure on saving, rent and fuel Required ratio = 600 5
13000 207.(a) Number ofstudent in institute Ain 2015= 800
i Number of student in institute A in 2016= 500

Total expenditure on food, Transport and saving

— 2600 x 2> = 14300
100

Percentage decrease in number
( 800 — 500
800

]x 100 =37.5%
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208.(a) Number of students enrolled in B in 2016 = 600.
Number of students enrolled in A in 2016 =500.

600
Required percent = 5o 100 = 120%
209.(d) Savingin2012=6-5=1.

[a—y

Ratio of saving to expenditure= —=0.2

5
savingin2015=9-75=1.5
1.5 1
Ratio of saving to expenditure = E_E_ﬂ‘z
Hence, Ratioare equal in 2012 and 2015.
210.d) Savingin2015=9-7.5=1.5
Savingin2016=10-8=2
Monthly average saving in 2015 and 2016
L 5+2 35
T 24 24

="14583.33
211. () Total saving from 2012102015
=(6-5)+(7-5.5)+(8-6)+(9-7.5)+(10-8)
=1+15+2+1.5+2=8
Total income from 2012 to 2015
=6+7+8+9+10=40

x10°

8
Required percent = Ex 100=20%

212.() Savingin2012—13=(6—5)+(7—5.5)=1+1.5=2.5.

Savingin 2015—16=(9—7.5)+ (10-8)=1.5+2=3.5

o 25 _25_5
Ratioin 201213 ="527"5= 1557 77 -
Ratioin 2015 16= —o—=>> T

tio in 75+8 155 31°

5 31 155
= 2222 155:147.
Required ratio 21 7 147

213.(a) Required percent

_ Number of student enroll in C in 2014
total students enroll in 2014

~ 340
" 420+290+340 + 480 +480

370+250 620 62
420+430 850 85
215.(¢) Required percent
- 40
(310+370+420)

= ﬂ><ll.’]£l 39.1%
1100

x100 =16.9%

214.(a) Requiredratio=

x100

216.(a) Average number of students

_ Sum of total number of students

No. of years

217. (¢)

218. (b)
219. (a)

220. (b)

221.(d)

222.(0)

223.(0)

224.(a)

_ 430+450+470+ 420+ 480
5

Central angle made by total number of cars sold in year
2013

=450

520+530+460
= x360°
1350+1350+1510+1620+1710+1460

= ﬂ>< 360° = 60°
9000

480+400 880 _88
540+430 970 97
Required percent decrease

_ (650 +520 +540) — (630 + 400 +430)
(650 +520+540)

Required ratio=

x 100

- 20 x100=14.6%
1710

Average number of cars sold by A

_ 500+480+520+620+650+630
6

3400—5667

The total number of shoes nanufactured by the
company on all seven days together is

Days=DI1+D2+ D3+ D4 +D5+D6+D7

=720+ 628+ 740+942 +966 + 1034 + 1200

=6230

The number of shoes manufactured on D5 = 966
Average of shoes manufactured per day

6230

= =890
966—890="76
The number of shoes manufactured on D1 is =720
Hence number of shoes manufactured on D7 is = 1200
The number of shoes manufactured on D1 is what
percentage of shoes manufactured on D7
the percentage is
— E x 100

D7

720

=~ 1200

=60%
Total number of carin 2015=100

= 100

20% of car in 2015 =100 x % =20

So, E type of car constitutes exactly 20% of total number
of car in2015.
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225. ()

226. (c)

227. (¢)
228. (a)

229. (a)

230. (¢)

231.(¢)

232. (a)

233.(b)

234. (a)

Total number of car in 2013 and 2014

=(130+170)=300

300x25
100

. D types of cars constitute exactly 25% of the total
number of car produced in those 2 years=(40+ 35)=75.

(180-120) X1
120

25% ofcar in 2013 and 2014 =

75

Required percentage = 00

60
= E % 100=50%

A type of car in 2017 which is decrease maximum.
Number of books of §| = 26
Total number of books =238

238
Average= = = 34

26
Required Ratio= 34" 13:17

Number of books of S3 =31
Total books of science =29 + 34 + 38 =101

101
Average= 3 =34
Required percent = ! x 100 =92.07 = 92.1

3
101
A
Number of books on arts=26 +31 +36 + 44 =137
Number of books on Science =29 + 34 +38 = 101
Required Ratio= 137 : 101
Total expenditure on "infrastructure' and 'transport'
=(25+17.5)%=42.5%.
Total expenditure on 'taxes' and 'Interest on loans'
=(10+22.5)%=32.5%

425 17
325 13

Required percentage difference
=(22.5-17.5)%="5%.

.. Required ratio =

Improvement in term of percent from class X to XII of

following student,
90 -85

Veena =[ ]xlﬂﬁ:S.SS%

86-72

Alka =[ ) %100 =19.44% (Maximum)

71-62

Meena =( )x100=14.51%

86-76

Madhu =[ JxlDD:B.lé%.

Total expenditure of the company

=25+17.5+20+10+5+15+22.5=115.

Sum of expenditure on Research and
Development and Salary =5+ 15=20.

115
.. Required value = —=35.75.
quired value 20

235.(a) Total vacant seats in 2™ class Non-AC
=50+60+70+110+60=350
Total vacant seats in 1" class Non-AC
=40+100+110+20+30=300
Total vacant seats in Non-AC classes
=350+300=650
Total production of company x in five yeras
=40+55+35+60+50=240

Average production of company X in five yeras

236. (b)

_240_
===

48

Total production of company y in five years

=35+45+45+50+60=235

Average production of company y in five years
_235_
= =

47

Total production of company z in five years

=45+50+55+45+45=240

Average produciton of company z in five yeras

_ 240
5

So,x and z.
In 2014, required percentage

48

237.@)

_ (225-160)
225

x100

= 6 x100 =28.8%

225
In 2015, required percentage

_ (360-280) 159
360

= ﬂx 100 =22.22%
360

In 201 6, requifed ijercemage
_ B75-300) 109
375

=73 100 =20%
375
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238. (b)

239. (b)

240. )

241.(d)

In 2017, required percentage

_(325-250)
325

= Ex 100 =23.07%
325

In 2014, the number of students enrolled in institute
A is x % less then, the number of students enrolled in
institute B in the same year.

Number of boys in Science stream in the year 2012 and
2016=40+38="78.

Number of girls in Commerce stream
=45+42+38+34+41=200
Required percentage

=78 . 100=39%
200

Average production of black teain 2014, 2015 and 2018

100+80+120 300 i
= % = e =100 million tonnes

Average production of green tea in 2016, 2017 and
100+130+110 340

2019 = ————— = —— million tonnes
3 3
340 340-300 40
So, difference = N —100=73 =3 = 13.33

Hence, production of black tea is 13.33 less than pro-
duction of green tea.

200 .
In 2008 = ﬁx 100 = 50% increase
In 2009 = %x 100 = 66.66% increase

200
=——x100=20% decrease
In2010 1000 0

400
= —x 100 = 50% increase
In2011 200 o1

In2012= 280 x 100 = 23.33% decrease

1200

Hence, in the year 2009 there was a maximum percent-
age increase in the sales of products.

InP,
. 20
Candidates enrolled for exam = 5500 x ﬁ =1100

Candidates passed in exam = 3300x % =594

Required percentage = 394 x100 =54%
1100
InQ,

30
Candidates enrolled for exam= 5500 xm =1650

24
Candidates passed in exam = 3300 x 100 792

. 792
Required percentage = x100 = 48%
AuITeC pereeniage = 1650 ’
InR,
. 12
Candidates enrolled for exam = 5500x 100 =660
18

Candidates passed in exam = 3300 x 100 594

Required percentage = ﬁx 100 =90%
660
InS,

Candidates enrolled for exam = 5500 % =990

Candidates passed in exam = 3300 x % =792

Required percentage = %x 100 = 80%

InT,

Candidates enrolled for exam = 5500 x % =1100

Candidates passed in exam = 3300x % =528

Required percentage = 1512{)1 %100 = 48%

So, Institute ‘R’ has the highest percentage of candi-
dates passed to the candidates enrolled.

Total number of students enrolled in the Science stream
in all the schools=60+ 78 +45 +40 +40 =263

Actual production of ACs in March = 100

Total Target production of ACs over the 5 months
=60+30+80+90+100=360

Average target production over the 5 months

360
=—=T72
5
. (100-72)
Required percentage = BT %100

28 100=39%
=—x =
72 o
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244.(b) InJanuary:

245. d)

246. (a)

Actual production on is more than the target

70-60

1
production = x100 = 3 x100=16.67%

In February :
Actual production is more than the traget production

=3930 100 =24 100=662%
30 3 3
InMarch:
Actual production is more than the target Production

_ 10089, 100 = Lx100=25%

80 4
InApril :
Actual production is not more than the target produc-
tion
InMay:
Actual production is more than the target production
_ 120-100
100

Actual production of ACs in March and April
=100+80=180

Target production of ACs in January and April
=60+90=150

Required ratio=180:150=6:5

Class interval (170—-175)=12

Class interval (165—170)=14

14-12

1
x 100= gx 100=20%

= %100 =14.28% =~ 14.3%

247. (b)

248. (b)

249. (c)

250. (b)

251.(d)

252. (a)

253.(a)

254. (d)

Total in school A=4290
Total in school B= 3700

Rati —@—429‘3?0
atio= 2 =429:

Height between (150—155)cm =15

Height between (175—180)cm =6
Difference=15-6=9
Ain2009,2011,2013=800+ 700+ 750=2250
Bin2008,2012,2013=550+500+480=1530

. 2250 25
Ratio= 1530 17
Height (160—170)=24
_ % 100= 24—0—3»4-"/
~ 70 o7 T

15.7
Other= IOGOXIOG =157

10
i it=15.7Tx— =
10% mix fruit * 100 1.57

Total le= 1570 * 100
otal people= 1.57
=10x% 10000= 100000
Annual increase
=74 x10000= " 74000
In 2010, sum of students from school A and B is
minimumi.e. 500+600=1100

300
Chocolate flavour = 3 x25.8 =" 5160



